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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180159
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861802423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to

first letter cluster.

LATIN : IWQEK :: MODIFY : ?
Options:
1. &« JLBECV

7 % JKAEVC

3 ¢ JKAECV

A % JKAEBU

Question Number : 1 Question Id : 5861802423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ I0T T I S JrEe I0T AHE T U O ¥ HeioT g oW 9 @ g 907 weg vee 90T g @
i

LATIN : IWQEK :: MODIFY : ?
Options:

1. » JLBECV

2 % JKAEVC



3. v JKAECV

4. » JKAEBU

Question Number : 2 Question Id : 5861802424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.

4211 :44:: 1721 - 2
Options:
1. = 106

7 % 108

3. ¢ 110

A % 116

Question Number : 2 Question Id : 5861802424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IF FEA I S O TE ¥ 3E e ¥ FET ¢, B e ¥ gl s ugelr wEw ¥ wEfia

4211 : 44 = 1721 = ?

Options:
1. = 106
2 % 108

3. ¢ 110



4. % 116

Question Number : 3 Question Id : 5861802425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1 = 112:41

7 % 846:63

3. % 252:33

A 446:73

Question Number : 3 Question Id : 5861802425 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IR Food TEAT T3AT A ¥ JF T al ¥ FAF g, Fa0% 394 § UF 3o ¢l 35 & v 9=

Options:

1 = 112 : 41
2 % 846 : 63
3. % 252: 33

4. » 446 : 73

Question Number : 4 Question Id : 5861802426 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Select a figure from the options figures that would complete the figure matrix.

Options:

Question Number : 4 Question Id : 5861802426 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

g7 ApToded HFHAAl H ¥ a8 WFHT I S 3H HFIA HTGg H T FLT 872

[
_|_

Options:



5 B> B

Question Number : 5 Question Id : 5861802427 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out among the following:

Yen, Dollar, Nasdaq, Euro
Options:
1. = Yen

? % Dollar

3  Nasdaq

4. % Euro

Question Number : 5 Question Id : 5861802427 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



gH @ faww T4

Options:

Question Number : 6 Question Id : 5861802428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures have.

£ (A0
SHeA

Problem Figures

o+
1. 28

Options:

=
O»

2. %

4




»
L e

Question Number : 6 Question Id : 5861802428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST Ao IMF Al H & T HTPic ot [oAHeh HISTOTaTOT &F HHEAT TP 4! & FAT ¢ |

Problem Figures

Options:

o+
. 28

i

A
o . V€

oo
3.« 19

$

i
4. v §®

Question Number : 7 Question Id : 5861802429 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.



Options:

1. = Calm : Serene

2 x Cold: Freezing

3« Deep: Profound

4 « Slow : Petite

Question Number : 7 Question Id : 5861802429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR Feod e oA H F A UF e T TAS g, el 3a8 § T e ¢ a0 & fawe =1

Options:

1. = ad: R
2.33 EET%??RDI'
3. x BT TE

4 v fTF - srerar

Question Number : 8 Question Id : 5861802430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Two different positions of the same dice are shown below. Which symbol is on the face opposite the face showing ‘677

6(2)[4]1)

Options:



-2
#
bt

Question Number : 8 Question Id : 5861802430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=TI ek &1 STEW () T T HeAeT-3ereT TEfaar & 715 g1 <6° TE@T I8 Boreh & 3ol 1ol Hereh TR i TT Idieh 87

,-"“‘H

BE ﬂ
Options:
1. v 1

2. % 2

Question Number : 9 Question Id : 5861802431 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following patterns of the dices can be formed when the sheet given below is folded?

+
Al
F 3
& | #
|
* + * A
| |
#A n&#' #

Options:
1. » Onlyland3

?  Only2and3

3 % Only2 and4

4 = Alll,2,3and4

Question Number : 9 Question Id : 5861802431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S 9eed ofe @ Wies faar Srar §, 99 3w (TR) ¥ SeHA H ¥ FiA 6 U I Hepar 872

+
aAjgl
*
& | #
* + * A
|
#ﬂ A | & #! a |

Options:

1. % aer 1 3R 3

2 o Faa 23T 3

3. x Had 2, HR 4

4. «» w12 334

Question Number : 10 Question Id : 5861802432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shivani walks 65 m north to her shop. From there, she turns right and walks 45 m. Then she turns left and walks 23 m.
Then she turns right and walks 17 m. She turns left now and walks 17 m. She finally turns left and walks 32 m. What is
the shortest distance between her current position and an ATM which is located straight 65 m north to her house?

Options:
1. % 36m

7 % 40m



3 ¢ 50m

4 % 75m

Question Number : 10 Question Id : 5861802432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R 9=l g & T 3eat T AR 65 m Tadr g1 TG ¥ g a5 AW ATHT 45 m Torr g1 B T®
T% 3R 75T 23 m T g1 B 97 @ AR AEET 17 m e §1 39 # 9 9% AR AgsAL 32 m
T &1 3EhT FoAe Bl #R 3EF W ® 65 m 3o #r AR A g wdew F @9 se9aw g
I FL

Options:
1. = 36 m
? % 40 m
3 ¢ B0m
4. =« 75 m

Question Number : 11 Question Id : 5861802433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark in the given matrix?
3 |92 5|58
4 |108 |6 |56
5 (150 (3|72

Options:
1. « 116

7 % 110



3 = 82

4 = 86

Question Number : 11 Question Id : 5861802433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jecd 3edg A FoA e & T W FHa d@ FEAw e

4| 108 | 6

&

5| 150 | 3 ?

Options:
1. ¢ 116
2 % 110
3 % 82
4 = 86

Question Number : 12 Question Id : 5861802434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If MUMBAI is coded as MIMIMI, then is coded as ININTINI?
Options:
1. = CONTAINS



7 % STAINED

3. % SKIING

A~ SHILONG

Question Number : 12 Question Id : 5861802434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE MUMBAI &r MIMIMI & &9 H =12 f&ar orar §, ar &I INININI % &5 & I3 f&ar 73 g

Options:

1. « CONTAINS

2w STAINED

3. % SKING

4. »~ SHILONG

Question Number : 13 Question Id : 5861802435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given set, define the group that represents people who are politicians and actors but not dancers.

Actors
Polincians

e\
N

Dancers

Options:
1. = A

Question Number : 13 Question Id : 5861802435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teed W= A, T Sl 3 TAE 1 IR Y S TAATI 3R FerHR At &, R 7o a1 &1

L

Options:



2. » B
3. v C
4. = D

Question Number : 14 Question Id : 5861802436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If we code ZEBRA as 85291, then how will vou code KING?
Options:
1. « 2957

3. = 7295

Question Number : 14 Question Id : 5861802436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe g7 ZEBRA Fr 85291 1T i &, af KING &FT FI5 9 F{?

Options:

1. « 2957



2 % 5729

3.« 7295

4. % 9572

Question Number : 15 Question Id : 5861802437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the given set of classes:

Alir Force, Air Marshal and Brigadier

Options:

3.v



©

4. =

Question Number : 15 Question Id : 5861802437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T8 3T NG T, ' Tacd =TT AR F FER H=F ¥ A &

A BT, T AN 3R R

Options:

nee)

2. %

@O



Question Number : 16 Question Id : 5861802438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three statements are given, followed by three conclusions.

The symbols used in them have meanings as follows:

P (@ Q means P is neither smaller than nor greater than Q.
P # Q means P is neither greater than nor equal to Q.

P & Q means P is neither smaller than nor equal to Q.

P % Q means P is not greater than Q.

P $ Q means P is not smaller than Q.

Now read the following statements and decide which of the conclusions is/are true.

Statements:

L#M

S&R

R@P

R#EL

Conclusions:
. RSM
II. S&P
Im. M%R

Options:

1. » Only conclusionI is true.

7 . Only conclusion II s true.



3 x Only conclusion Iand II is true.

4. % All conclusions I, Il and III are true.

Question Number : 16 Question Id : 5861802438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s Fua e 7w § AR 398 a5 &7 ey off e 1w ¥ s wyea v &
HY fAFATER &

P@QAQFm 3 gFPaarQa orrg it a s
PHQFITFFP AT Q& a3 § 3 7 T g
PEQH AT ZFP AT Q& Brer § 3R o = 21
P% Q& 37 ¢ &F P Q3 asr a7 2
PSQ# 77 ¢ 5 P Q & orer 47 21

3T FF FyAT F1 9 HAT T F & =35 T FF T TewT m@@r 28

el
L#M
S &R

R@P
R#L

forsay:
. R$ M

. S &P
.M % R

Options:



3.« wad fFswy | 3R 1 = Bl

4.« T TS o, SR E

Question Number : 17 Question Id : 5861802439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if

they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the

giVEIl statements.

Statements:

All coolers are fans.

Some fans are blowers.

All bottles are fans.

Conclusions:
I. Some blowers are coolers.
II. Some coolers are bottles.
III. Some fans are coolers.

IV. No cooler is bottle.
Options:
1. % Only conclusion II and III follow.

? % Either conclusion IT or IV follows.

3. % Conclusion IIT and either I or IV follows.



/]« Conclusion IIT and either IT or IV follows.

Question Number : 17 Question Id : 5861802439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Rr i sar s I TV gaRr S s Ru s & A o & u W8T &, &7 &7
TrEdtas audl @ W E, 97 #Y fF a1 e afde T @ Secd HUA H HFEOT H 2

FUAT:
Tl Fer T &
FC T BN L
Tl Siger T £

o
. $T AR TR &
. $5 FoR Fiae gl
Il.FT & Fox gl
IV.31S ForR aiad 78T ¢

Options:

1 e fsed 1l AR I a8

5 e 1l 3R IV 7 8 F1Z HFHEIT AT B

3 e 11l 3T | a1 IV 7 & F1S a0 AT g

4 o TSR AV F T FE HFEROT FA g

Question Number : 18 Question Id : 5861802440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five boys, A, B, C, D and E, and five girls, P. Q. R, S and T, such

that there are at most two boys in the team and it meets the following criteria:

i. P and S must be together.
ii. C and R must be together.
iii. C and D cannot be together.
iv. D and Q must be together.

v. E and S must be together.

Which of the following teams can be formed?
1. BPSRAC
2. DQPASP
3. STEDQP
4. TPESED
Options:

1. % land3

? % 2and3

3  Only3

] % Only4d

Question Number : 18 Question Id : 5861802440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ofg @EHT A, B, C, D 3R E iR wm s=f@ai P, Q R, S 3R T # & 55 57 991 ¥ O & &F I
ST & R & H A F FH g 75F @ R e Aes W o an

i. P 3R S s gty @= =fEwl
i. C 3R R s Ty g Tfgw)
jii. C 3T D Ts @1y 7T & "Ha|
iv.D 3T Q T Ty g =nfEw)
v.E #R S s @y g =nfgvl

=98 ¥ FiF T RBFeT vF &F 57 gFdr 27
1. BFSRAC
2. DQPASP
3: STEDQF
4. TPESRD
Options:

1. = 13k 3

7 % 2 3T 3

3 v Had 3

Question Number : 19 Question Id : 5861802441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of *Doctors’ are as follow.

The candidate:

1. must have completed M.D. Medicine with more than 85% marks.

[

. Imust have secured at least 85% marks in MBBS.

3. must not be less than 32 vears and not more than 45 years of age as on | January 2019.

However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than 909 marks in M.D. Medicine, his/her case is to be referred to the Head (HR).

b. no. 3, but has 3 years of practising experience, his/her case is to be referred to the Administrative Head.

Based on the criteria given and without assuming any additional information. you have to a take a decision for the
following candidate.

Dr. Birbal has obtained 85% marks in both MBBS and M.D. (Medicine). He was born on 28 July 1985. He has worked
at a reputed hospital for three years before applving for the current position.

Options:

1. ® The candidate is to be selected.

? « The candidate is not to be selected.

73w The candidate’s case is to be referred to the Head (HR).

/] % The candidate’s case is to be referred to the Administrative Head.

Question Number : 19 Question Id : 5861802441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘el & 9¢ & foT 3FAEaR I+ & T Aees Fraegan g
IFHIEAR:
1.77.gr aftfam gar =onfee sk 33 85% @ #fow 3w @ =l
2.TAAATH F a7 85% & =ewl
3.1 Sadr 2019 T 3WH 37 32 A ¥ &H ;1 45 T ¥ Ao 787 g =fRv)
grellten, TTg 3FAEaR 3% wall Ags X & g, e
a. 7. 2, Afew 3uF w.dr AR & 00% ¥ ¥fow 3% § O 3w AWer FREAT (TEIR) F
ST FATC
b. 7. 3, ofFa 3u% urd &7 Tel F WFCT F AgET g, O 3HH AHT FeES AT FoSST
ST
Yerd AEEl # YR 9 AR el ofr sfafes seetr @ ot o e, s T 3Eieer &
fore Sger o= B

ST IRTe A THALAeE. dHR . Affw O & & 85% % @fdw fFv € 3wer e 28 e
19853#; Eﬁlmwsﬂwﬁﬁﬁmmﬁmﬁma+wmﬁ¢m FT & 3

Options:

|y IFHCER AT A AT

5 v SFHAICAR Wl FEl AT ST=AT =T

3« 3FHICAR & A H JREAT (TI.HR.) 1 SAT A0

A« IFACAR % ATHC H FATHS FIEIT FT S ST

Question Number : 20 Question Id : 5861802442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T Rere & 9g F Pw srfiear 77 & v Awes e &

IFHIEAT:

1. Feifeer AAIEAA # TA.U. g7 =T 3K 38% 70% ¥ HoF 37 gia TRv|
2.FF ¥ FH g Tl I TegreT g==ar & T FH & 2

3.T% TTel Al o BiEa & Ua & 915 93 & 991 &7

greltieh, T 3FAEaR 390 Tl Aes I T g, B
a. 7. 2, AfFd 3TF Adae AATTAT H 75% T F0F 3% 2, a7 35 AT fEger Fr 8=
ST

b. 7. 3, A 304 57 ¥ &7 91 T IF et & Ty & &Far & o 33 amer s9-faees
FT AT ST

Yeod HAEE F IR 9T 3t B off afafeg saewdr v iy fe e, e e 3EieER &
fore $mer o= B

HAFAET & TH.U. (g AANGART) H 72% 37 gad T g 98 TH AT Al o B8 & Tad H
T T & AT 3ur ¥ 389 {9 gger Al & T wEes T §

Options:

1« 3FACER AT AT =T

5 v 3FHIGEAR T AN AT A AT

3 x 3FHIGAR % ATHC H AT HI SAT AT

A x 3FARCAR & AH F 39-fACeAF FI HAST AT

Question Number : 20 Question Id : 5861802442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Special Educator’ are as follow.

The candidate:

1. must have completed M.A. in Clinical Psychology with more than 70% marks.
2. must have worked with children with disabilities for at least 2 years.

3. must be willing to sign a bond of not leaving the job for one year.

However, if a candidate fulfils all the above criteria EXCEPT:

a. no. 2, but has got more than 75% marks in M.A. Clinical Psychology, his/her case is to be referred to the
Principal.

b. no. 3, but has must have worked with children with disabilities for at least 4 vears, his’her case is to be referred
to the Deputy Director.

Based on the criteria given and without assuming any additional information. you have to a take a decision for the
following candidate.

Amandeep has obtained 72% marks in M.A. (Clinical Psychology). He is also willing to sign a bond of not leaving the

job for one year. He has applied for his first job.
Options:

1. % The candidate is to be selected.

? « The candidate is not to be selected.

73 x The candidate’s case is to be referred to the Principal.

/. % The candidate’s case is to be referred to the Deputy Director.

Mental Ability2

Group Number : 2

Group Id: 586180113
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 586180117

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 586180160
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861802443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?




Question Number : 21 Question Id : 5861802443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S WTFIOT H ¥ Hid AT HFHA Iecd HFT F Fd Faieea g2idr g2




Question Number : 22 Question Id : 5861802444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

ZnB43S97tjkxc9

Options:

. ealifvezeprans

“enyfive’erans

2.

. exoljtze2erdus

. . SUBY320)M1KXC3

Question Number : 22 Question Id : 5861802444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yoo WHE T WE 0T O I, IR T F R 3R TH FeATUT 90T T@T A 2

ZnB43S97tjkxc9
Options:

1 exoljFvecerans
5 . €nojiNeeErans

5 . aolifZe2Ergus



4 » SUBY320)MfKxC3

Question Number : 23 Question Id : 5861802445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A) T4*&4%48@23*7/+#
(B) T4*&4%43@23*75+#
(C) T4*&4%43@23*TA+4#
(D) T4*&4%43@23*7r+#
(E) T4*&4843@23*7T/+#
(F) T4*&4%43@33*7T +#
(G) T4* &4 &43@23*T7 A+ #
(H) T4*&4%43@23*77+#
Options:

1. & A CandE

7 % B,Cand E

3 « CDandH

4 = C.Fand H

Question Number : 23 Question Id : 5861802445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A HTS TAF-HEA F g U a0 §, 39H7 @ A7 ve §A g1 Roge aAE I wog 99t

A) 74+84%48@23«7"+#

B) 74+84%43@23+«7%+#
(C) 74+84%43@23«7"+#
D) 74+8&4%43@23+7"+#
(E) 74+84%43@23+«7"+#
(F) 74+&4%43@33«7"+¢#
(G) 74+84843@23+7"+#
H 74+84%43@23+7"+#

Options:

1 « A C3HRE

2 4 B, C3HRE
3.« C,D3RH

4 % C, F3RH

Question Number : 24 Question Id : 5861802446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the given figures. when fitted into each other would form a square? Select an appropriate combination from
the given options.

o L5

&

D

E F

Options:
1. ¥+ BCEF



? % ABDF
3. % BCDE

/. =« BCDF

Question Number : 24 Question Id : 5861802446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= ¥ Fw T # 79 v g 7 e & Far & v At awen? veen Reed 3 @
T WS T4

A L L

E F
Options:
1. v BCEF
2. % ABDF
3 % BCDE
4. = BCDF

Question Number : 25 Question Id : 5861802447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the diagram given below, the pentagon stands for ‘lawyers’, the triangle stands for ‘married persons’, the rectangle

stands for *women’, and the oval stands for ‘Gym members’. The numbers in different segments represent the number

of persons.

Which of following statement is NOT correct?
Options:
1. » The number of lawyers who are gym members but are neither women nor married is 16.

2 % The number of women lawyers who are married but are not gym members is 8.

3 Women married lawyers who are not gym members are 14.

4. » Women gym members who are neither married nor lawyers are 11.

Question Number : 25 Question Id : 5861802447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A Yerd NG H, THHIOT FHET H AT g, B ‘urdrRpEr dART #r gAier g, 3ad Afger @ g
¥ 3t s ToF geral @ gufar B 3ee-areeT Wa # & T gEAre safegar $r 9T g

gl
16\/5\
VA .
Y17/
7=
TTE T FiT T FUST TE G &7
Options:
1«

U FHAr Hr TEAT 16 §, S BF F gEEw O £, e 7 o ¥ afgene § 3k 7 & Rafgg €
>y CEr wfger sdEr F wEm 8 g S Tatlea & € A TF i geEw 78 2
3. o TEEd AT FHEr F T 14 g F F e 7@ 2

A » OO a@fyer Gw wewmt & dwwr 11 %, 5 A o Rarfea § ik 7 & ade &

Question Number : 26 Question Id : 5861802448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

e

Figure. X




Options:

1. =

\ "4
2. % L
3.

\\x
4 =

Question Number : 26 Question Id : 5861802448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SH ¥ 9 Hpa I (8 HTpia X SHHT T 81T g

Figure-X

Options:




Question Number : 27 Question Id : 5861802449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figure will complete the pattern in the figure given below?

Options:

1. =



3. %

4 v

Question Number : 27 Question Id : 5861802449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH U &I B Apia A" Feod epia Heed &l O HL?

Options:



4. v

Question Number : 28 Question Id : 5861802450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a family, there are four sons and four daughters. The family also has one married pair. Anuj is the son of Vikram.

Aurpit is the son of Malti. Lekhika is the daughter of Arpit. Hansa is the daughter of Sahil. Gokul is the son of Lekhika’s
grandfather Vikram. Arpit and Sahil are brothers. Anuj and Gokul are brothers. Rupali is the daughter of Gokul. Anuj is
Damini’s father. How is Malti related to Rupali?

Options:
1. &= Mother

2 % Maternal grandmother

3 Paternal grandmother

/. » Granddaughter

Question Number : 28 Question Id : 5861802450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve IRNER A 91 3¢ AR TR A §) 9NER # ve S S of 313 e @ der g1 s
AT & q2T g1 W@ FT T I T FW mfge & 897 ) Aigd o F T SwH & e g
HEF AR TR 15 F1 I HR Meper o1E F1 T AMper Fr FE T HFA arfHA F7 AT F AT
T FUTe O Tyear 9ar i

Options:




Question Number : 29 Question Id : 5861802451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A + B means A is sister of B’

A —B means ‘A is son of B’

A » B means A is father of B’
A + B means ‘A is wife of B’

A % B means A is brother of B’

IfP%R%M-S+QxU~=K xT+1J, then which of the following statement is NOT correct?
Options:

1. = U is mother of I.

? s M is brother of P.

3. % Uissister of R.

4. « Qs paternal grandfather of J.

Question Number : 29 Question Id : 5861802451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A+BaFm 3T g A B IEa ¢
A-BFT3aT¢ A BF AT
AxBF ITETABFRIATTE
A+BaF sy g ‘A B&E T E
A%BFR ¥TEA BF a5 ¢

TP %BRBM-S+QxU+KxT+Jg arsad T Fid A FIUT TEr 787 87



Options:

1« U, J & 7 gl

2. % M, P T o778 B

3. % U, R & gl

4. » Q J @ FET (IS ASHER) g

Question Number : 30 Question Id : 5861802452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A question is given, followed by statements labelled L. II. ITI and I'V, each containing some information. Decide which
of the statements is/are sufficient/necessary to answer the question.

Question:

How is B related to C?

Statements
I. F is B’s wife whose daughter is D.
II. C’s mother is sister of K.
III. D is K’s sister.

IV. B is father of K.
Options:
1. % Statement I and II together are sufficient.

2w Statement IT and III together are sufficient.

73 Statement IT and IV together are sufficient.

/. » Statement IL, IIT and I'V together are sufficient.

Question Number : 30 Question Id : 5861802452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T WA & a1 |, I, 11l 3R IV 39e § T IR FUF e 0 §, 5% A T 7 T AFFY & 7% g
T F F 99T F 3c¢ &7 F 0T =5 ¥ FiF av" Fua qma/Fwlr g

LLEH

B, C ¥ 30 mrafdg &7

FYA:
|.F, B & 9=t & Towehr = D g
II.C & @mar K & 58 21
I.D, K fraga &
IV.B, K & & 2

Options:

1. » Hua | 3 || Ty g3 2

2w ®UA | AR I TREry 93T g

3. o HUA |l HR IV ThEy T gl

4. = FEA U, Il 3T IV THETT g1 g

Question Number : 31 Question Id : 5861802453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘DESKTOP’ is coded as 104 in a code language, how would “EXPLAIN’ be coded in the same code language?
Options:
1. = 128

3. ¢ 132



A % 134

Question Number : 31 Question Id : 5861802453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e foreT FE AT & ‘DESKTOP’ &7 104 &= f&5a7 737 2, af 39T &g 91 § ‘EXPLAIN' &I &1 &1
&ar FArTe?

Options:

1 % 128
2 % 130
3. v 132
A % 134

Question Number : 32 Question Id : 5861802454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

20+ 696 = 144 + 58 — 864 = 884

Options:

1. = 58 and 864, * and =

2. % 58 and 696, +and +

3w 696 and 20, +and —

4 v 144 and 58, x and +



Question Number : 32 Question Id : 5861802454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEmH AR RE & 5 A § § FF @ IH 39 Bl 3w # gge W oF Seed Ao
FHHIOT T T & g HLm?

20 + 696 = 144 + 58 - 864 = 884
Options:

1. » 58 3R 864, x AR +

D« 58 3 696, + AN +

3. » 696 3 20, + 3R -

4. » 144 AT 58, x 3R +

Question Number : 33 Question Id : 5861802455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of 300 students take part in one or more of three events essay, quiz and chess. Only 12% participate in all three
events. The number of students who participate in any two and only two events is 28% of the total students. The number
of students who participate in chess alone is 45. What is the total number of students who participate in essay alone or
quiz alone?

Options:
1. = 125

3. v 135

A % 140



Question Number : 33 Question Id : 5861802455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH, B 3R 99 & FEEAT A $or 300 OF 5T A W@ g Fad 12% @ W FEHAT H A9 oF W©
g1 Tl ar FdwAr IO FHae & FAHAT H AT o AT B BT FEAT FoT o BT 28% g1 FAS =H
H ST O AT OIS BT FEAT 45 gl e TEH UM A FAS H ST o AT Fol O B HEAT T
HL7

Options:

1. % 125
2 % 130
3. v 135
4. = 140

Question Number : 34 Question Id : 5861802456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five objects A, B. C, D and E: A is three times heavier than C; B is one and a half times heavier than E: C is two
and a half times heavier than D. E is thrice as heavy as A. Which of the following the statements is NOT correct?

Options:

1. = A is 3 times heavier than C.

? % B is heavier than A.

3. « Eis 6 times heavier than C.

4. » Eisheavier than A but lighter than B.

Question Number : 34 Question Id : 5861802456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



9 TEHI A, B, C, DAREA WA CU AT 1 a1l §; B, E & 3¢ 77 &1l &; C, D & @15 T
o8 ¥ E, A & R o1l 81 597 | Fi & FuF T AL &7

Options:

1 % A CH 3T &l E

2 » B, AWy

3, E C¥6 I a7 ¢l

4 » E A® G g afFa B & g g

Question Number : 35 Question Id : 5861802457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. B says to C, ‘If I give you 1 rupee, you will
have half the rupees than D’ B says to D. ‘If you give me 8 rupees, I will have 10 rupees less than A.”. C says to D, “If
you give me 21 rupees, I will have 30 rupees less than A’. If C and D together have total 104 rupees, how many rupees
does B have?

Options:
1. = 65

7 % 66
3 v 67

4 = 68

Question Number : 35 Question Id : 5861802457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR FFaar A, B, C 3K D & 918 HeeT-37eeT 394 g1 B, C ¥ Fgar ¢, ‘W gH A 1 ¥ L &, a
FEN 9T D ¥ 3 & g ST B, D ¥ g §, ‘IR gH HH 8 FH &1, A W I A ¥ 10
T FF g7 C, D & FEaT ¢, 3R IH S 21 FF g @, O W W A T 30 T FH g Ay C
3R D 3 F 98 FoT 104 T ¢, & B F 9 fraw = 82

Options:

1. = 65
7 u 66
3. v 67
4 = 68

Question Number : 36 Question Id : 5861802458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. % Innovation

? % Transformation

3 % Renovation

4. » Stagnation

Question Number : 36 Question Id : 5861802458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yeed IR el F ¥ A7 0 al ¥ A &, FafE v T g1 s @ s g9

Options:



Question Number : 37 Question Id : 5861802459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

DN

N

1

100+

| —
L
—

3

Options:

1. % 1

L2
#®
bt

Question Number : 37 Question Id : 5861802459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Yerd IR IFAA H ¥ dF TF s & THAS ¢, Faie TH 70T gl 304 ¥ v I

B__l—1—!h..l—l

— b

DN ||l (LI |
1 2 3 4

Options:

1. % 1

Question Number : 38 Question Id : 5861802460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which number will replace the question mark (?) in the following series?

8,9.9 11,.72,25
Options:
1. = 18

? % 20

3 = 21

4l v 22

Question Number : 38 Question Id : 5861802460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tg e g9 S g@er 7 yoF R (2)F T wiavuwa wEm
g3, 9 9 11,7 25

Options:

1. = 18
2w 20
3. = 21
4. v 22

Question Number : 39 Question Id : 5861802461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

24, 28, 39, 69, ?
Options:
1. = 134

3. v 136

A % 137

Question Number : 39 Question Id : 5861802461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tg faweT g9 S g@er 7 yoF Rew (2)F T wiaruria s

24. 26.38: 63, 7

Options:

1 % 134
2 % 135
3. v 136
4.« 137

Question Number : 40 Question Id : 5861802462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

44, 59, 78, 105, 144, ?
Options:
1. % 198

7« 199

3 % 200

A = 201

Question Number : 40 Question Id : 5861802462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tg e g9 S g@er 7 yoF R (2)F T wiavuwa wEm

44, 59, 78, 105, 144, ?

Options:

1. = 198

2.« 199

3 % 200

4. = 201

General Awarenessl

Group Number : 3

Group Id: 586180114

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl1

Section Id : 586180118
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 586180161
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5861802463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Twin leaves is the symbol of which of the following parties?

Options:

1. = Aam Aadmi Party

2. v All India Anna Dravida Munnetra Kazhagam
3. » Bahujan Samaj Party

4. = Communist Party of India

Question Number : 41 Question Id : 5861802463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il Ued farafali@d & & forar qret 1 welisr 872

Options:

1. % 3TH 3TEHAT UTdf
2. v el YA ool &S dgﬁﬂ HEITH

3. = SESlel TSI qTef
4. = AT cwjam Ira

Question Number : 42 Question Id : 5861802464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is non Green-House Gas (GHG)?

Options:

1. = Methane

2. = Nitrous Oxide

3. = Sulphur Hexafluoride
4. v Carbon Monoxide

Question Number : 42 Question Id : 5861802464 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

feIta@d # @ &I v AT 837 9 (ShvgsiT) a1 &7

Options:

1. = #Hrede

2. % oS¢ 3FaSs
3. * oW BFATFOINISS

4. v FIee AlAI3TFASS

Question Number : 43 Question Id : 5861802465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following companies had a dispute with the
Gujarat farmers with regard to a specific variety of potatoes?

Options:

1. = Coca-Cola
2. » Nestle

3. v PepsiCo
4. = Kellogg's

Question Number : 43 Question Id : 5861802465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafofEd # @ {8 Fuer &7 v fGfese fhed & 37 &
g H TR0 & fRamr & @rer faare ar?

Options:

1. ®= ShIhT-ehlell
2. = aFel

3. v Uicgenr
4. = TeRellar

Question Number : 44 Question Id : 5861802466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following airlines had to suspend operations due
to debt issues in April 20197

Options:

1. = Kingfisher

2. v Jet Alrways

3. = Alr Deccan

4. » Sahara Airlines

Question Number : 44 Question Id : 5861802466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d A @ Tord vIRemgal 1 3itel 2019 H HOT HEl +

FRUT TeIT TRTeld Jhell IST?

Options:

1. = TRaTTtheT

2. v S TILAS

3. * UYL ScFehd

4., » FERT TALATSH

Question Number : 45 Question Id : 5861802467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The quarterly magazine, My Vote Matters, was launched on
the occasion of Voter’s Day. The first copy was presented to
who among the following?

Options:

1. » The Prime Minister of India

2. » The Chief Justice of India

3. = The Election Commissioner of India
4. v The President of India

Question Number : 45 Question Id : 5861802467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Acerdr fead & 3 o AATES 9w A dlic Al I
T a1 3 UfERT HT ggell Ui Taetioli@d # @ fhd v
C i R

Options:

1. = AT & TITTHIT
2. « ARd &Y aTaTeiTer

3. * R & ST 3RYF

4. v RA & TS

Question Number : 46 Question Id : 5861802468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India awarded Padma Bhushan to a foreigner, John
Chambers, in Trade & Industry Category in 2019. John
Chambers is associated with which of the following
companies?

Options:

1. v Cisco

2. = Oracle

3. = Samsung
4. = Apple

Question Number : 46 Question Id : 5861802468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR o 2019 H ¢85 US I5EET AUN H Uk [deell, Sia desd
ST 95 H{YUT & FEATT ThaT| Siiel doad Tetfeli@d & @
fore suelr @ SIS 87

1. v QTR
2. = 3yhol




3. = AT
4. = QTS

Question Number : 47 Question Id : 5861802469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Virat Kohli and Anushka Sharma have been appointed as the
brand ambassadors of which e-commerce portal in May 2019?

Options:

1. = Snapdeal
2. = Jabong
3. v Myntra
4. = Ebay

Question Number : 47 Question Id : 5861802469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ag 2019 A T Figell 3T 3SR AT FT TFT T-FH1A
Il o S8 Usasy #wﬁﬁgﬁmw‘é’?

Options:
1. % TAUSTel
2. = GIEUIG'EI

3. v AT
4, = =&

Question Number : 48 Question Id : 5861802470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which state was very badly affected by the cyclone “Fani” in
May 2019?

Options:

1. * Tamil Nadu
2. v Odisha



3. » Karnataka
4, = Assam

Question Number : 48 Question Id : 5861802470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 2019 H 3T Iehald "Bl 8 a8 & hid T o3 g
T e venfad gam ar?

Options:

1. = dTACTS
2. v 3=
3. = hellceh
4, % 3

Question Number : 49 Question Id : 5861802471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chennai Municipal Corporation building has been named
after which of the Viceroys of British India?

Options:

1. * Mayo
2. = Canning
3. = Dufferin
4. v Ripon

Question Number : 49 Question Id : 5861802471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

deals FAIN ToI9TH Hael ol AH [§icer ¥R & fhd T—IEET
ATH 9¥ I@T 9T &7

Options:

1. = AT
2. % Spialal




3. * Shilel
4. v U1

Question Number : 50 Question Id : 5861802472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The operation to annex Hyderabad to India took place in
which year?

Options:

1. = 1947
2. v 1948
3. = 1946
4. % 1950

Question Number : 50 Question Id : 5861802472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EeXTETE T AT H THeTe S FRATE! etaiad FF av g
ofT?

Options:

1. % 1947
2. v 1948
3. % 1946
4. = 1950

Question Number : 51 Question Id : 5861802473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rakesh Sharma was the first Indian to travel in space. Who
among the following was shortlisted as his backup?

Options:

1. = Kalpana Chawla
2. = Sunita Williams



3. » Shawna Pandya
4. v Ravish Malhotra

Question Number : 51 Question Id : 5861802473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRl oTAT 37aNeT H ITAT Rl TTel Tgel ARGIT 2|
frefeoaa # & fha 3otk 96317 & &0 # Foiwg forar amm
207>

Options:

1. = SheldT dTdell
2. = gFﬁT—IT ICIGE ;]
3. = T YISl

4. v TA@TeT HeglET

Question Number : 52 Question Id : 5861802474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was ‘Kerala Paryatanam’ launched, in order to
get temple entry and also the right to use public roads for
every Hindu irrespective of caste or creed?

Options:

1. = 1920
2. v 1924
3. = 1947
4. = 1940

Question Number : 52 Question Id : 5861802474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST a1 99 @ W, & Bg & v AT # vder e 3R
HTdolleleh TSRl T 3ITART Flal T YRR ‘Tl TIead SaAH
O g gy # uResT fohar o r ar?

Options:




1. = 1920
2. v 1924
3. = 1947
4. = 1940

Question Number : 53 Question Id : 5861802475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Prayagraj is the new name of which Indian city?

Options:

1. » Varnasi

2. v Allahabad

3. » Bhubaneshwar
4. = Gaya

Question Number : 53 Question Id : 5861802475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIRRTST AR o [ohd 8T hT AT ATH &7

Options:

1. = GRIOTET
2. v Sollgldlg
3. = #fgeieay
4. = IT

Question Number : 54 Question Id : 5861802476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two olympians, Rajyavardhan Singh Rathore and Krishna
Poonia, contested the 2019 for Lok Sabha election from the
same constituency from different parties. What is the name of
that constituency?

Options:



1. = Ajmer

2. = Jodhpur

3. = Udaipur Rural
4. v Jaipur Rural

Question Number : 54 Question Id : 5861802476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar 3eITugel, Tegadel g T 3 F50T Yform o didee
gell & Ueh &I feidTaer &7 & 2019 FT olhael o1 oIsT| 34
foaTer 87 &1 a1H 27 87

Options:

1. » 3SAT
2. = SrEUq
3. » 3T¥YT JTHTOT
4.¢GIEI"§IDT3;I'I?1?I'UT

Question Number : 55 Question Id : 5861802477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Former ISRO chairman AS Kiran Kumar was conferred with
the highest civilian award of which country in May 2019?

Options:

1. = Russia
2. » Britain
3. v France
4. = China

Question Number : 55 Question Id : 5861802477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AS 2019 # ISRO & qd 37eger vvd fohor FARX 1 foha o
% Hafed AR AN & TEAAT fhar ar=m ar?

Options:




1. = &F
2. » TodaT
3. v B
4, = el

Question Number : 56 Question Id : 5861802478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Payment of Gratuity Act, which governs the gratuity paid
to an employee, was passed in which year?

Options:

1.~ 1972
2. % 1947
3. = 1956
4. = 1965

Question Number : 56 Question Id : 5861802478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AGET TTATAAA T 3T, ST TRl FeaRT T &Y 18 ATy
H TAET FAT &, 398 & g a¥ # IRT Tohar =T a1?

Options:

1. v 1972
2. = 1947
3. = 1956
4. = 1965

Question Number : 57 Question Id : 5861802479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Section 302 of The Indian Penal Code is related to which of
the following?

Options:



1. = Injuring or defiling place of worship
2. = Adultery

3. = Unlawful assembly

4. v Punishment for murder

Question Number : 57 Question Id : 5861802479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAT 28 gfgdr $r arT 302 farafei@a # O frad gefag
&7

Options:

1. % Tl T FATel AT TRHATNT FUTel
2. » AR

3. = IRl THT

4.

JE’F&T'O%\'I'FIGIT

Question Number : 58 Question Id : 5861802480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per “The Registration of Foreigners’ Act, 19397, every
foreigner who wishes to stay in India for more than 180 days
needs to register himself/herself within how many days of
his/her arrival?

Options:

1. = 30
2.v14
3. % 2
4. % 10

Question Number : 58 Question Id : 5861802480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



"faefRrat & deireReor sifaferra, 1939" & 3w, 180 feaii &
TR TAT Tk ART H @ hl Tl IWe dlel Ucdeh [acelT
I 370e1 IMTH & fohctel foeT T e T Tollehed HLaT gram?

Options:

1. = 30
2. v 14
3. % 2
4. = 10

Question Number : 59 Question Id : 5861802481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which was the venue for the final match of IPL. 20197

Options:

1. = Chennali
2. » Mumbal
3. = Kolkata
4. v Hyderabad

Question Number : 59 Question Id : 5861802481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IMEUITS 2019 T BEadd T oFaroidad § 8 Fg T ™

TelT 3T 2T?

Options:
1. % TUools
2. « HES

3. % Shiclehlc
4.

v EEUEIE

Question Number : 60 Question Id : 5861802482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In which year did the Tennis icon Leander Paes make his
debut in Davis Cup?

Options:

1. = 1985
2. v 1990
3. % 1993
4. = 1995

Question Number : 60 Question Id : 5861802482 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

T 3MShel TOIUSY U o o1 O o a¥ 3139 9 H Ygr9or

fora?

Options:

1. = 1985
2. v 1990
3. = 1993
4. = 1995

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Awareness?2

4
586180115
0

0

No

No

0

20

No

Yes

0

0

General Awareness2



Section 1d : 586180119

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180162
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861802483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Appu” was the mascot of which of the following Asian
Games?

Options:

1. = 1986
2. % 1990
3. v 1982
4. % 1994

Question Number : 61 Question Id : 5861802483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"3y fArATET A F forg Ulems el 7 gt 917

Options:

1. = 1986
2. = 1990
3. v 1982
4. = 1994

Question Number : 62 Question Id : 5861802484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country tops the list of having maximum number of
UNESCO world heritage sites?

Options:



1. = Spain
2. = France
3. v Italy
4. = India

Question Number : 62 Question Id : 5861802484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gaeen! hI faed gUET el Hr 3ifOhdA dear arer deif #
hiel @T o7 oM oT &7

Options:

1. = T

2.
3. v Scoll
4, % SR

Question Number : 63 Question Id : 5861802485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city is the famous Dakshinaarka temple located?

Options:

1. * Unao

2. v Gaya

3. = Modhera
4. = Konark

Question Number : 63 Question Id : 5861802485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UrE et AT fiaiioliEd # & fohd gt # fud g7

Options:

1. = 31
2. v I



3. = AT
4. % HIUh

Question Number : 64 Question Id : 5861802486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the director of the first soap-opera of Indian
television on Doordarshan titled “Hum Log”?

Options:

1. = Shankar Nag

2. » Kundan Shah

3. » Ravi Chopra

4. v Kumar Vasudev

Question Number : 64 Question Id : 5861802486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HLATT Tellidotel, glaslel T "gH ol ATAS Tgel ENT-3100 &
foaderr Hia 22

Options:

1. % 9TRY 1T

2. * el AE
3. = If@ =A9ET

4. v FHAN drEd
o wt

Question Number : 65 Question Id : 5861802487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the broadest layer of the atmosphere, with a
temperature that can reach thousands of degrees celsius?

Options:

1. = Troposphere
2. v Thermosphere
3. = Stratosphere



4, = Mesosphere

Question Number : 65 Question Id : 5861802487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 7 & ggAse &7 T8 ST W Fid AT g o=k
dTIAT g1 29 afcaaw o= q§t1 HehclT &7

Options:

1. = ZIOEhRY
2. v TANFEHRT

3. » TESIEHAT
4. » AEFHRR

Question Number : 66 Question Id : 5861802488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term Khatri is used for which of the following seasons in
Tamil Nadu?

Options:

1. v Summer
2. = Winter
3. = Spring

4, = Autumn

Question Number : 66 Question Id : 5861802488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

aﬁﬂa@ﬁaﬁ%mmmﬁmﬁﬁ@ﬁﬁmmﬂ%ﬁv
T Srar §7

Options:

1. v AT
2. % LS
3. % Fad



4. » 9IS

Question Number : 67 Question Id : 5861802489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the below biomes is closest to the polar region?

Options:

1. = Tropical rain forest

2. » Temperate deciduous forests
3. = Grasslands

4. v Tundra

Question Number : 67 Question Id : 5861802489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aird fev a0 IR # & FiT YA &F F ToH aAorerh g7

Options:

1. = 3sUTehieaelT auiae
2. = efcAsoT quidTar Jef
3. = " & He

4. v g3

Question Number : 68 Question Id : 5861802490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In economics, what is the full form of SWP?

Options:

1. = Simple Withdrawal Plan

2. v Systematic Withdrawal Plan
3. = Simple Wellness Plan

4. = Systematic Wealth Plan

Question Number : 68 Question Id : 5861802490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3reerET H, SWP T qOT &9 7 §7?



Options:

1. » TOYel Tgugiae valrd

2. v BEeRles [Qugiae e
3. = T8Yel delad ol

4. = TOEIRTCH oy Tard

Question Number : 69 Question Id : 5861802491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As on May 2019, what is the annual income above which 30%
income tax is applicable?

Options:

1. = 15 lakh
2. » 2 lakh
3. = 5 lakh
4. v 10 lakh

Question Number : 69 Question Id : 5861802491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 2019 T, Tohceir arier 3T 9T 30% 3R 9] fehar
I=T &7

Options:

1. = 15 oI
2. % 2 od
3. = 5 omg
4. v 10 omE

Question Number : 70 Question Id : 5861802492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Section 80G of the Income Tax Act is associated with which of
the following?

Options:



1. * Home loan

2. v Donations made towards charity
3. = Equity saving scheme

4. = Medical insurance premium

Question Number : 70 Question Id : 5861802492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIRT ITATATH hr aRT 803 fratoi@d & O Tohdes a1y

Options:

1. = B ol

2. v TIeT o YTd [RIT 91T arel
3. = gioadl AT Eh1A

4. » Tfrear AT AT

Question Number : 71 Question Id : 5861802493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Cochlea” belongs to which part of the human body?

Options:

1. v Ear

2. = Heart
3. %= Lungs
4. % Liver

Question Number : 71 Question Id : 5861802493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

"SIFAI" AT T & T o191 & Tefaa &7

Options:

1. v Rl
2. % B



3. * g

4. = FHd T TSI (

1y

[aY)

Question Number : 72 Question Id : 5861802494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the common name of calcium oxychloride?

Options:

1. * Common salt

2. v Bleaching powder
3. = Baking soda

4. = Plaster of paris

Question Number : 72 Question Id : 5861802494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FToRIH FOTFANISS I TTATTT ATH FAT &7

Options:

1. = HIYNUT dHh

2. v Sollf<dr UI3sT

3. = SfRar AYST

4, = TIEET 3% 9RH

Question Number : 73 Question Id : 5861802495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which are tiny, thin-walled, inflatable sacs in the lungs where
oxygen and carbon dioxide are exchanged?

Options:

1. v Alveoli

2. » Trachea

3. = Bronchioles
4. = Auricle



Question Number : 73 Question Id : 5861802495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s H Tg Hie AT BIEN, Tcoll SaN dTell, arg el Aferar
gIdT &, ST8T 3TIelel 3 e SIBHFHISS T -V

gl &7

Options:

1. v Wleadrell
2. % gfeRaT
3. = Sfh3ited
4, = TRl

Question Number : 74 Question Id : 5861802496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which physics phenomenon is applicable when ‘one’s body
moves to the side when a car makes a sharp turn’?

Options:

1. v Inertia

2. = Doppler effect

3. » Archimedes’ principle
4. = Charles’ law

Question Number : 74 Question Id : 5861802496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S FIs HN def M & fRAT AlS W gACT §, d STlFd
RIT 3 3 SIF AT &1 FgT [AeiieliEd A & i T
HITIhT TcalT o] gdr 87

Options:

1. v SIsdT

2. % e THIT
3. = 3RIASS &1 W




4. = I HT WET

Question Number : 75 Question Id : 5861802497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In which year was the first Nobel Prize awarded?

Options:

1. = 1895
2. % 1900
3.+ 1901
4. = 1905

Question Number : 75 Question Id : 5861802497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUH Aol [ERR TR a¥ verer fRar am=r or?

Options:

1. = 1895
2. = 1900
3. v 1901
4. = 1905

Question Number : 76 Question Id : 5861802498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the name of the first private rocket launched by
Japan to reach space?

Options:

1. v Momo-3
2. = Momo-1
3. # Jojo-1
4. = Jojo-3

Question Number : 76 Question Id : 5861802498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HARE # TgTe F AT ST g@RT % U aw gge faed

Iiehc T oITH FAT &7

Options:

1. v AA-3
2. = AA-T
3. % Slall-1
4. = FI-3

Question Number : 77 Question Id : 5861802499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state is the Kudankulam Nuclear Power Plant
situated?

Options:

1. » Kerala

2. » Karnataka

3. v Tamilnadu

4. » Andhra Pradesh

Question Number : 77 Question Id : 5861802499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feeheld wgfFordl Ul tolle fawtfoifda & & foe vsg A
Feara &7

Options:

1. % el

2. = Thollaah
3. v AffeETg
4. = 3T e

Question Number : 78 Question Id : 5861802500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The first IIT was set up in 1950 in which of the following
locations?

Options:

1. » New Delhi
2. » Mumbali
3. v Kharagpur
4. = Chennal

Question Number : 78 Question Id : 5861802500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ay¥ 1950 & vgem [T O3 faeaoi@d & O g T2« W
TRaT =T UT?

Options:

1. = @8 fee

Question Number : 79 Question Id : 5861802501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following was the first full-time Director of
IIM Ahmedabad?

Options:

1. » Kasturbhai Lalbhai
2. » Ashish Nanda

3. v Ravi ]. Matthai

4. » Vikram Sarabhal

Question Number : 79 Question Id : 5861802501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IM 37gFETETE & Ugel quihiierh faders farafafaa & @ sia
a7

Options:

1. » FEIHTS ATIHTS

2. = 3mefy ey
3. v a3 HaTS
4. » TOhA IRIATS

Question Number : 80 Question Id : 5861802502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was Sir Dorabji Tata Graduate School of Social
Work established? It later changed its name to The Tata
Institute of Social Sciences (TISS).

Options:

1. = 1932
2. % 1950
3. = 1960
4. v 1936

Question Number : 80 Question Id : 5861802502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T SNTEST CICT dﬁiﬂuc Thol 3T GeTel doh g ¥ & Temiog
foRaT T UT? STC A SHRT STH SEelehl & TIET SEICIT A

grerer IrEaet (TISS) T fear =)

Options:

1. = 1932
2. % 19580
3. = 1960




4. v 1936

Arithmetic Ability1

Group Number : 5
Group Id: 586180116
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 586180120

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180163
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861802503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

3480+ 125
Options:

1. «+ 38

? % 29



3. % 19

4 = 17

Question Number : 81 Question Id : 5861802503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T

3480=12=5
Options:

1. v 58
72w 29
3 % 19
4 = 17

Question Number : 82 Question Id : 5861802504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A container of oil was 3 full. When 7 bottles of oil were taken out and four bottles of oil were poured info it. it wasg
full. How many bottle; of oil can the container retain?

Options:

1. = 40

7 % 42

3. & 45



4 = 48

Question Number : 82 Question Id : 5861802504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

éﬂquﬁrg mgmwﬁmﬁﬁ?aﬁméﬂﬁaﬂmwﬁ4mﬁﬂzﬁﬁmm,ﬁ
a‘rg ST g3 ol 9 H farae Sae a9 3 AT 82

Options:

1. = 40
2w 42
3. v 45
4 = 48

Question Number : 83 Question Id : 5861802505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

- G ; g ; ;
" of % of a number is greater than : of - of the same number by 12. What is one third of that number?
pu ] pu ]

Options:
1. ¢ 315



Question Number : 83 Question Id : 5861802505 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

wm#; mgmma:

| B2

Options:
1. v 315
2 % 630
3 % 720
4 x 945

ar§12 3o B T T ve-TaEE 9ar &Y

Question Number : 84 Question Id : 5861802506 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
Evaluate:

(1-2(-D0-9)-(1-5)

Options:

1. =

[

w0

2. %

Question Number : 84 Question Id : 5861802506 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



Options:
1
1. = 2
1
2 = 8
1
3. % 16
1
4, v 18

Question Number : 85 Question Id : 5861802507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:
0.215+0.00215

Options:

1. = 1

? % 10

3« 100

A % 1000



Question Number : 85 Question Id : 5861802507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬂﬁ:
0.215+ 0.00215
Options:

1. = 1

2 = 10

3. « 100

4. % 1000

Question Number : 86 Question Id : 5861802508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

347.297
H—

347297 .
= x then the value of is
0.0042

Options:
X

1. v 10

X

? % 100

3 % 10x

A = 100x

Question Number : 86 Question Id : 5861802508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



347297 +
iy 272 _x & oar — AT 9T &1

0.0042
Options:
x
1. v 10
X
2 % 100
3w 10x
4. « 100x

Question Number : 87 Question Id : 5861802509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If2.375 x 10* = 0.002375 then the value of k is:

Options:
1. = -4
2. v -3
3. 2
4, % -1

Question Number : 87 Question Id : 5861802509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TfE 2.375% 10% = 0.002375 &, @ k & AT 9T FL
Options:



Question Number : 88 Question Id : 5861802510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
V+x

If 1.5x = 0.02y, then the value of ( ) is:

y—x

Options:
27

1. = 3s

36
a7

28
A & 37

Question Number : 88 Question Id : 5861802510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE 1.5x=0.02y g ar (E) FT ATH IaT F|

Options:



37

1. = 38
36
2 = 37
37
3. % 39
38
4. v 37

Question Number : 89 Question Id : 5861802511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The fraction equivalent of z % is:

Options:
e
1. & 225
o
? % 175
x
3 % as
e
4 = 120

Question Number : 89 Question Id : 5861802511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 .
;% FT == AT Il FL|

Options:



1. v 225
&
2 % 175
1
3w 45
&
4 % 120

Question Number : 90 Question Id : 5861802512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2.63 in the form of cEl is equal to:

Options:

1. = 33

87

67

3 % 33

68

A % a3

Question Number : 90 Question Id : 5861802512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2.63 EF'FE FFTH FAGET I FI|

Options:



45

1. = 33
87
2. ¢ 33
67
3 = 33
68
4. = 33

Question Number : 91 Question Id : 5861802513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The highest common factor of 36 and 54 is:

Options:
1. = 6

? % 12

3.v 18

Question Number : 91 Question Id : 5861802513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

36 3T 54 T AgedH THATTAS TT Fi
Options:




2 % 12
3. v 18
4 = 24

Question Number : 92 Question Id : 5861802514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The product of two numbers is 5887. If the HCF of these numbers is 29, then the greater number is:
Options:
1. «+ 203

7 % 205

3. % 207

A % 209

Question Number : 92 Question Id : 5861802514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEHT3T # UGS 5887 g1 IfE 57 WG # Agcad WATGEA® 29 g, Al 931 HEAT T i

Options:

1. v 203



2 % 205

3. % 207

4. % 209

Question Number : 93 Question Id : 5861802515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The LCM of two numbers is 495 and their HCF is 5. If the sum of the numbers is 100, then the difference between them

is:
Options:

1. % 5

? % 8

3 v 10

4 = 12

Question Number : 93 Question Id : 5861802515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEATH! F A H THTEAH 495 § AN 30 FeeaH FAEd® 5 ¢ afe FEmAt @ aer 100 g,
ar A% & FT AR I4T F
Options:




3. v 10

Question Number : 94 Question Id : 5861802516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifa: b:c=2:3:5and2a + 3b- 2c = 3, then the value of ¢ is:

Options:

1. % 1
2. % 2
3.% 3
4 v 5

Question Number : 94 Question Id : 5861802516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T a:b:c=2:3:5 3T 2a+3b-2c=3 g & c F AT IaT FI
Options:



Question Number : 95 Question Id : 5861802517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifa:b:c=2:3:7anda=x%of (b+c).then x is equal to:
Options:
1. = 30

? & 20

Question Number : 95 Question Id : 5861802517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T a:bic=2:3:73Na=x%F(b+c) &, A x T T IaT FII

Options:

1 = 30
2. v 20
3 % 10
4., = 5

Question Number : 96 Question Id : 5861802518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



30% apples out of 240 are rotten. How many apples are in good condition?
Options:
1. «+ 168

Question Number : 96 Question Id : 5861802518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

240@3?:&@30%@?5@%%#@33%%?

Options:
1. v 168
2 %« 154
3. % 152
4. = 148

Question Number : 97 Question Id : 5861802519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 2 T : p——
A student multiplied a number by z instead of o What is the percentage error in the calculation’

Options:



1. = T%
1'[]'[][}!
Ea— ]

? % 3

3 = %D%
2%

4 v 9

Question Number : 97 Question Id : 5861802519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T O A R T AU Ee S AT S © IO &Y fewn §7 e # 38 gfeerd gar

Options:

’|$3T%

100

Question Number : 98 Question Id : 5861802520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The price of rice is reduced by 4%. How many kilograms of rice can now be bought for the money that was sufficient to

buy 48 kg of rice earlier?

Options:



1. « 30ke

2 x S52kg

3w Sdkg

A4 x 56kg

Question Number : 98 Question Id : 5861802520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T $r BHT H 4% FAT Fr Jr T FA T 98 48 kg TEA TiES F BT gueg 6 ¥ 3w e
feiEme Taer e 3T §&d 27

Options:
1 50 kg
5 % 52 kg
3 % 54 kg
A % 56 kg

Question Number : 99 Question Id : 5861802521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The average of 4 positive integers is 69. The highest integer is 75 and the lowest integer is 62. The difference between

the remaining two integers is 3. Which of the following integers is smaller of the remaining two integers?

Options:
1.~ 68



7 % 69

3 % 70

4 = 71

Question Number : 99 Question Id : 5861802521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 uATeHF qUiterl 1 HHd 69 g1 Fa® a7 quiter 75 § 3R Fa® Sier quite 62 g1 ahT &= & quiter!
& o1 F HAT 3 Bl IFA ¥ FlA T Ol ST a9 & Ol d BIeT 87

Options:

1. v 68
2w 69
3. = 70
4 = 71

Question Number : 100 Question Id : 5861802522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Out of 8 persons, 6 persons spent Z 52 each for their meals. Remaining two persons each spent ¥ 15 more than the

average expenditure of all the eight. The total money spent by all of them was:
Options:
1. & 450

P x T452



3. % T454

A & 7456

Question Number : 100 Question Id : 5861802522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ay, AT A A N F AN T W 52 @I AT gl TH s S AFIA T E
& TH IS & Had F T4 15 30E T AT g1 37 FEA Fof fohad 98 T He?

Options:

1. = 39 450
2 % TAU 452
3. % TIY 454
4~ TIT 456
Arithmetic Ability2
Group Number : 6
Group Id: 586180117
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability?2

Section Id : 586180121

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180164
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861802523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arvind purchased a television for Z 15000 and sold it for T 17250. What was the profit percentage?
Options:

1. v 15%

7 % 18%

3. % 20%

A % 22%

Question Number : 101 Question Id : 5861802523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IRTaeE o TIF 15000 H T Tolfaeia @ilgHT 38 99 17250 # 5= &an oy gfaera 9ar #17?

Options:

1. v 15%

2 % 18%



3. % 20%

4. » 22%

Question Number : 102 Question Id : 5861802524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A trader marked the price of his commodity so as to include a profit of 25%. He allowed discount of 15% on the marked

price. His actual profit percentage was:
Options:

1. &= 5.5%

2. & 625%

3 % 6.5%

4 = 7%

Question Number : 102 Question Id : 5861802524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T AN 7 A9 WA & 3Ahd Hod J AT 25% a1ef o enfaa & @ 38 b feg w
15% BT & &l 38FT HA o Fioerd Iar |

Options:

1. = 55%

2. ¢ 6.25%

3. % 6.5%



4 = 7%

Question Number : 103 Question Id : 5861802525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Mathew bought a scooter for a certain sum of money. He spent 10% of the cost on repairs and sold the scooter for a

profit of ¥ 1100. How much did he spend on repairs if he made a profit of 20%?
Options:
1. = 400

7 % T450

Question Number : 103 Question Id : 5861802525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 7 vw AfRmg o & o T wlEn 3EF 10% 3E AT W @Y #4389 99 1100 %
HAS F WY 39 &I PR IH 20% 1 gIT &, A 35S FEH R raen @w

Options:

1. = T 400
D % TIF 450
3. v T 500

4. % T9F 550



Question Number : 104 Question 1d : 5861802526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Anil purchased a motorcycle whose marked price is ¥ 120000 at a discount of 12%. If sales tax of 10% is added on the

bill, then find the selling price of the motorcycle:
Options:
1 % <1,26,160

2w %1,16,000

3 v T116.160

4. = 118,180

Question Number : 104 Question Id : 5861802526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T 12% TT & WY TH Al GUG!, former dfha Fea F9d 120000 om1 afg e # 10%
fsrw X A3 o =T &, O AR #1 GR35 99 #:

Options:

1 % T 1,26,160

2 % TAA 1,16,000

3 o T 1,16,160

4 x T 1,18,180

Question Number : 105 Question Id : 5861802527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A shopkeeper gives a discount of 20% on the marked price of an article. But on a second thought, at this stage, he raises
the price by 20% and marks it again. By how much percentage is the new marked price more or less than the previous
one?

Options:
1. = Nil

72 « 4% less

3 % 4% more

%0 more

e
®

Question Number : 105 Question Id : 5861802527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁgﬂﬂﬂﬂﬁcﬁ@#ﬁﬁﬁﬁﬁﬂ%%@?ﬁ?ﬂ%lé‘%ﬁﬁﬂ@?ﬁg‘t’:ﬁﬁ TEg T FAT
20% Fer & AR 3¥ O ¥ kT & femn =4 sifee Aow Prow sfea o & Faw sfoee s or
FH 7

Options:

7 v 4% &H

3 % 4% HEOw

A % 5% HEH

Question Number : 106 Question Id : 5861802528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At the rate of 8% per annum simple interest, a sum of Z 5000 will earn how much interest in 2 years 6 months?

Options:



1. % %1200

b2

« < 1000

3. % %900

A % %800

Question Number : 106 Question Id : 5861802528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8% ITfSe =aT=f T ¥ TTF 5000 9X 2 T 6 A H Fraar sar=r Foem?

Options:

1. =TT 1200
2. v TF 1000
3. =TI 900
4. = TIT 800

Question Number : 107 Question Id : 5861802529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money at simple interest doubles in 7 years. It will become four times in:
Options:
1. = 18 years

? 21 years



REE" 38 years

4. = 42years

Question Number : 107 Question Id : 5861802529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BIURUT 50T X T Af¥ad A 7 |l F SREm @ S ¢ a8 e Jer & 4 I @ e
Options:

1. = 18 @ral &

2 o 21 e A

3. % 38 @ren A

4, = 42 @ A

Question Number : 108 Question Id : 5861802530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person invests money in three different schemes for 6 years, 10 years and 12 years at 10%, 12% and 15% simple
interest respectively. At the completion of each scheme, he gets the same interest amount. The ratio of his investments

is:

Options:

1 = 2:3:6
2' ® 1:2:3



Question Number : 108 Question Id : 5861802530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U afod 9 FOET-HT AAATHT H FHM: TT T 10%, 12% 3T 15% FUROT =77 X 6 F@rar, 10
grer 3T 12 T@rE & R 8 @9y Ftar §1 g7 W9 F AT 2 W 3% TS A 4T f&Hedr g
fder s e FH

Options:

1. = 2:3:8

3 ¢ 6:3:2

4 = 2:3:4

Question Number : 109 Question Id : 5861802531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the compound and the simple interest on a sum for 2 years at 8% is ¥ 768. The sum is:
Options:
1. = % 100000

7 % % 110000

3.« % 120000

A % 170000



Question Number : 109 Question Id : 5861802531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 ®Ter H 8% #r 8T ¥ U Ty 9¥ A 3k grumur sars # T 768 39T g1 TRy 9ar 4

Options:

1. % TI 100000

2 % ¥ 110000

3.« TIT 120000

4. % T 170000

Question Number : 110 Question Id : 5861802532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A father left a will of T 24600 for his two sons aged 17 and 18 years. They must get equal amounts when they are 20

years, at 5% compound interest. What is the present share of the younger son?
Options:
1. = Z 13000

7 % % 12500

3.« 12000

A % Z11500

Question Number : 110 Question Id : 5861802532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

uF e & 39 17 3k 18 @ & &<F & v z 24600 Fr FWTT o &1 5% TR A W 20
TS & g W 3o IUaT UM BT ofige) o 32 & e & videg uar 17

Options:



1. « F9F 13000

2 % TIF 12500
3. v T 12000
4. % TI¥ 11500

Question Number : 111 Question Id : 5861802533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The perimeter of a rectangular field is 360 metre and the ratio between the length and the breadth is 5 : 3. The area of

the field is:
Options:
1. v 7593.75 5q. m.

7 % 8593.75 5q. m.

2 7320 s5q. m.

4 x 9345.25s5q. m.

Question Number : 111 Question Id : 5861802533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U HAAHR B F IRAT 360 HieX g R = AR s F Hgad 5:3 Bl B T AT I FH
Options:

1. « 7593.75 sq. m.



2 x 8b593.75 sq. m.

3« 7320 sq. m.

A, = 9345.25 sq. m.

Question Number : 112 Question 1d : 5861802534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A swimming pool is 24 m long and 15 m broad. When a number of men dive into the pool, the height of the water rises

by lem. If the average amount of water displaced by one man is 0.1 cubic metre, how many men are there in the pool?

Options:
1. = 30

? w32

3 % 34

4, v 36

Question Number : 112 Question Id : 5861802534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 0T 24 m o7 AT 15 m =57 &1 379 #F 8N <gfed 305 ST o9 g, af ST T 1 cm 98
I B AR v e dlEas 0.1 o9 Her I AT aar &, O Joae # fae cufea #2

Options:



4, v 36

Question Number : 113 Question Id : 5861802535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A metal cube of edge 12 cm is melted and formed into three smaller cubes. If the lengths of edges of two smaller cubes
are 6 cm and 8 cm, find the length of edges of the third smaller cube?

Options:

1 = 6cm

? % 8cm

3 « 10cm

4 = llcm

Question Number : 113 Question Id : 5861802535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 cm BR arel o1g & o & feremar s1ar § 3@ 389 &9 o a9 aun e s g1 afg & o
UAT F ORI H 912 6 cm 3T 8 cm &, & WY o U9 & SR H F69g I491 F

Options:

1. = 6 cm

7 % 8cm

3 ¢ 10 cm



4 = 11 cm

Question Number : 114 Question Id : 5861802536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two workers, A and B, working together complete a job in 5 days. If A works twice as efficiently as he actually does
and B works 1/3 as efficiently as he actually does, the work could be completed in 3 days. A alone can complete the
work in:
Options:

5= days

1. & "4

9 6& days

?.1

— days
4

3. %

81

~ days
4

4. =

Question Number : 114 Question Id : 5861802536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o #ffF A #R B U WY FH XA gV R A # 5 R F qu R whd §) 7T A e e @
AR ZaTaT ¥ HH HAT § AR B HUA aTHAT F 1/3 ZaTAT ¥ HH Har ¢, O w1 3 o F quw G
ST TH g1 A 3he hae @At F 1 @ aR wear 87

Options:

1. =« 537



:

1
4. = .

Question Number : 115 Question Id : 5861802537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C can separately finish a certain work in 12, 15 and 20 days respectively. They started to work together, but C left
after 2 days. The remaining work will be finished by A and B together in:
Options:

1. « 4days

2 % 35days
3 x Odays

4. = Tdays

Question Number : 115 Question Id : 5861802537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C 3RT-3e1T T HTH & Faer T & 12, 15 3R 20 A & @ = #oa &1 3 o @y &7
FAT YE FA 8, Aot C, 2 o 91g F1H BT o 21 aTehr 9= 3T 17 A 3R B gt ffee e
et & T FEr?

Options:

1. v 4f=




Question Number : 116 Question Id : 5861802538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train travels at 75 kmph. How many metre will it travel in 20 minutes?
Options:
1. = 20000m

? & 25000 m

3 % 26000 m

4. = 27000 m

Question Number : 116 Question Id : 5861802538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk ToEMEr 75 kmph & afg @ Tedr g1 97 20 FEe # oae d#ex el

Options:

1. = 20000 m

2 25000 m

3. % 26000 m

4. % 27000 m

Question Number : 117 Question Id : 5861802539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T 125-m SET IEEMEr Ofad &7 9 T AT 8, FAT LEEmEr Fr G2 7 & 5 kmph 717 ¥ i wr E
(GRS & g & 9% Blgd & 10 TFg @ &1 Teemer & a1fg 991 F1

Options:

1. = 45 kmph

2 50 kmph

3.« 92 kmph

A. = 54 kmph

Question Number : 117 Question Id : 5861802539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 125-m long train passes a man who is running at 5 kmph in the same direction in which the train is going. The train
takes in 10 seconds to pass the man. The speed of the train is:

Options:
1. = 45 kmph

2 30 kmph

3 x 52kmph

4. » 54 kmph

Question Number : 118 Question Id : 5861802540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T {FEMEr S Uk TET 9X H A 9 VeFs o9y g1 T ToemEr Fr a1y 48 kmph £, & oEmEr Hr F9g
qar |

Options:



1 % 150 m

7. v 120 m
3 % 90 m
4 = 80 m

Question Number : 118 Question Id : 5861802540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train takes 9 seconds to cross a pole. If the speed of the train is 48 kmph, then the length of the train is:
Options:
1. = 150m

? & 120m

3 % 90m

4 = 80m

Question Number : 119 Question Id : 5861802541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The number of candidates (in lakh) appearing in an entrance examination from six different cities are shown below:

City A B C D E F
No. of 1.25 3.14 1.08 227 1.85 2.73
candidates

The ratio of candidates passing and failing per city is shown below:

City | Ratio of Passing and failing
candidates
A F53
B §ii53
C 4:5
D 1:3
E o2
F g

Among the following cities, which city has the highest number of students passing the entrance exam?
B,A,DF
Options:

1.+ B

Question Number : 119 Question Id : 5861802541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v B

Question Number : 120 Question Id : 5861802542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The number of candidates (in lakh) appearing in an entrance examination from six different cities are shown below:

City A B C D E F
No. of 1.25 3.14 1.08 227 1.85 2.73
candidates

The ratio of candidates passing and failing per city is shown below:

City | Ratio of Passing and failing
candidates
A F53
B §ii53
C 4:5
D 1:3
E 5
F g

Among the following cities, which city has the least number of students passing the entrance exam?

.l b S O
Options:
1. &« A

Question Number : 120 Question Id : 5861802542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question 1d : 5861802543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for
the given group of words.

In 18th century England, an educated, intellectual or literary
woman was mostly called a/an:

Options:

1. = elite

2. » researcher
3. v bluestocking
4. = prudish

Question Number : 121 Question 1d : 5861802543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words.

In 18th century England, an educated, intellectual or literary

woman was mostly called afan:

Options:

1. = elite

2. = researcher
3. v bluestocking
4. = prudish

Question Number : 122 Question Id : 5861802544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the meaning of the following word.

MISOGYNIST

Options:



1. v Someone who hates women or believes men are better
than women

2. * Someone who hates people in general and avoids them
3. = Someone who hates the institution of marriage

4. = Someone who hates anything positive and feels negative
most of the time

Question Number : 122 Question Id : 5861802544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the meaning of the following word.

MISOGYNIST

Options:

1. v Someone who hates women or believes men are

better than women
2. » Someone who hates people in general and avoids them
3. * Someone who hates the Institution of marriage

4. = Someone who hates anything positive and feels

negative most of the time

Question Number : 123 Question Id : 5861802545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the
underlined words in the given sentence.

After the project failed, the team members were walking on
eggshells around their team leader.

Options:

1. * Walking slowly around him




2. = Being very upset with him
3. v Being very careful while dealing with him
4. = Feeling accountable about the failure

Question Number : 123 Question Id : 5861802545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the

underlined words In the given sentence.

After the project failed, the team members were walking on

eggshells around their team leader.

Options:

1. = Walking slowly around him
2. = Being very upset with him
3. v Being very careful while dealing with him

4, = Feeling accountable about the failure

Question Number : 124 Question 1d : 5861802546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Many students to donate blood for the accident
victims.

Options:

1. = came from

2. = bring about
3. v came forward
4. = count on

Question Number : 124 Question 1d : 5861802546 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Many students to donate blood for the accident

victims.

Options:

1. = came from
2. ® bring about
3. v came forward

4. ® count on

Question Number : 125 Question 1d : 5861802547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

Katchal, a tiny island near Nicobar was unknown until
the Royal Greenwich Laboratory declared that it would be the
first place on Earth to the rays of the first
sunrise of the millennium.

Options:

1. = really, habited, hold

2. v virtually, inhabited, catch
3. » virtually, crowded, see

4. = really, inhabited, realise

Question Number : 125 Question Id : 5861802547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

Katchal, a tiny island near Nicobar was unknown

until the Royal Greenwich Laboratory declared that it would

be the first place on Earth to the rays of

the first sunrise of the millennium.

Options:

1. = really, habited, hold
2. v virtually, inhabited, catch
3. = wvirtually, crowded, see

4, = really, inhabited, realise

Question Number : 126 Question 1d : 5861802548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with verbs that correctly agree with the
given subjects.

The economic factors fundamental; the earth

before man. Neither man nor his inventions precedence
over environment.

Options:

1. = 18, comes, takes
2. % are, come, takes
3. v are; comes; take
4, = 1s; come; take

Question Number : 126 Question Id : 5861802548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with verbs that correctly agree with the

given subjects.

The economic factors fundamental; the earth
before man. Neither man nor his inventions

precedence over environment.

Options:

1. = Is, comes, takes
2. % are, come, takes
3. v are; comes; take
4. = |s; come; take

Question Number : 127 Question 1d : 5861802549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following conditional sentence:

If only the illusionist had followed his regular routine:

Options:

1. = the audience will enjoy the show

2. = the audience can enjoy the show

3. = the audience would enjoy the show

4. v the audience would have enjoyed the show

Question Number : 127 Question Id : 5861802549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following conditional sentence:

If only the illusionist had followed his regular routine:

Options:



1. = the audience will enjoy the show
2. = the audience can enjoy the show
3. = the audience would enjoy the show
4,

v the audience would have enjoyed the show

Question Number : 128 Question Id : 5861802550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the grammatically INCORRECT sentence from the
given options.

Options:

1. = A tornado is a violently rotating column of air that
extends from the bottom of a cumuliform cloud, such as a
thunderstorm, to the ground.

2. « Tornadoes are often visible as a funnel-cloud.

3. v It is important to never confuse a tornado and a
hurricane or other tropical cyclone because tornadoes and
hurricanes is very different phenomena.

4. = Perhaps, the only similarity between them is that they
both contain strong rotating winds that can cause damage.

Question Number : 128 Question Id : 5861802550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the grammatically INCORRECT sentence from the

given options.

Options:

1. = A tornado I1s a violently rotating column of air that
extends from the bottom of a cumuliform cloud, such as a

thunderstorm, to the ground.

2. * Tornadoes are often visible as a funnel-cloud.



3. v It Is important to never confuse a tornado and a
hurricane or other tropical cyclone because tornadoes and

hurricanes is very different phenomena.

4. = Perhaps, the only similanty between them is that they

both contain strong rotating winds that can cause damage.

Question Number : 129 Question Id : 5861802551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate adjective.

When the police found the body of the girl near the woods,
she was wearing a :

Options:

1. = nice silk red skirt
2. v nice red silk skirt
3. = silk red nice skirt
4. = red silk nice skirt

Question Number : 129 Question Id : 5861802551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate adjective.

When the police found the body of the girl near the woods,

she was wearing a

Options:

1. = nice silk red skirt
2. v nice red silk skirt

3. = silk red nice skirt



4. = red silk nice skirt

Question Number : 130 Question Id : 5861802552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

The bank officials claim that someone stole the money from
the bank.

Options:

1. * The money had been stolen by somebody from the bank.

2. » The bank officials claimed that someone stole the money
from the bank.

3. * The money from the bank was claimed by someone.
4. v The bank officials claim that the money was stolen from
the bank.

Question Number : 130 Question Id : 5861802552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

passive voice.

The bank officials claim that someone stole the money from
the bank.

Options:

1. * The money had been stolen by somebody from the
bank.

2. = The bank officials claimed that someone stole the

money from the bank.



3. * The money from the bank was claimed by someone.

4. v The bank officials claim that the money was stolen

from the bank.

Question Number : 131 Question Id : 5861802553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to replace the underlined
word in the given sentence.

While cleaning the attic I found by chance an old family
photograph of my mother with her parents.

Options:

1. » came down
2. v came across
3. ® came up

4, » came around

Question Number : 131 Question Id : 5861802553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to replace the underlined

word In the given sentence.

While cleaning the attic | found by chance an old family

photograph of my mother with her parents.

Options:

1. = came down
2. ¥ came across

3. ®= came up



4. * came around

Question Number : 132 Question Id : 5861802554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Self-medicating can lead to side effects; we should
not try self-medication.

Options:

1. = consequently
2. = finally

3. = but

4. v therefore

Question Number : 132 Question Id : 5861802554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Self-medicating can lead to side effects; we

should not try self-medication.

Options:

1. = consequently
2. = finally
3. = but

4. v therefore

Question Number : 133 Question Id : 5861802555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in reported
speech.

Antony said, “Another thing I've been interested in is the
effect that surfaces, like dust grain surfaces, have on the
chemistry in space, and we were trying to figure out a way to
do that with the OREOS sample cells.”

Options:

1. * Antony said that another thing he was interested is in the
effect that surfaces have on the chemistry in space, and he
tried to figure out a way to do that with the OREOS sample
cells.

2. = Antony was interested in another thing which was the
effect that surface has on the chemistry in space and he also
tried to find a way to do that with OREOS sample cells.

3. v Antony said that another thing he had been interested in
was the effect that surfaces, like dust grain surfaces, had on
the chemistry in space, and he added that they had been
trying to figure out a way to do that with the OREQOS sample
cells.

4. = Antony was interested in the impact of surfaces on
chemistry in space and he was involved in experiments with
OREQOS sample cells.

Question Number : 133 Question Id : 5861802555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence In

reported speech.

Antony said, “Another thing I've been Interested in is the
effect that surfaces, like dust grain surfaces, have on the
chemistry In space, and we were trying to figure out a way
to do that with the OREOS sample cells.”

Options:

1. = Antony said that another thing he was Interested iIs In
the effect that surfaces have on the chemistry in space, and
he tried to figure out a way to do that with the OREOS

sample cells.

2. » Antony was Interested in another thing which was the
effect that surface has on the chemistry in space and he

also tried to find a way to do that with OREOS sample cells.

3. v Antony said that another thing he had been Interested
In was the effect that surfaces, like dust grain surfaces, had
on the chemistry Iin space, and he added that they had

been trying to figure out a way to do that with the OREOS

sample cells.

4. = Antony was Interested In the impact of surfaces on

chemistry In space and he was involved in experiments with
OREOS sample cells.

Question Number : 134 Question Id : 5861802556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

The Minister lost public support his stance on foreign
policy.

Options:

1. = while

2. » 1In order to
3. = because

4. v due to

Question Number : 134 Question Id : 5861802556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The Minister lost public support his stance on
foreign policy.
Options:

1. = while
2. % In order to
3. = because

4. v due to

Question Number : 135 Question Id : 5861802557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gliven in the options is a compete sentence that has been
divided into four parts. The four parts are jumbled. Rearrange
the jumbled parts and find the part that has a grammatical
error.

Options:

1. = at 9 a.m. tomorrow



2. = 1s the replacement of the existing Managing Director
3. v The Board of Directors would meet
4. » and the main agenda

Question Number : 135 Question Id : 5861802557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given In the options Is a compete sentence that has been
divided into four parts. The four parts are jumbled.
Rearrange the jumbled parts and find the part that has a

grammatical error.

Options:

1. = at 9 a.m. tomorrow
2. = Is the replacement of the existing Managing Director
3. v The Board of Directors would meet

4. = and the main agenda

Question Number : 136 Question Id : 5861802558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the four sentences given in the options, which one has the
correct word order?

Options:

1. = Soft skills help one stand out in the ever-evolving job
market from the competition.

2. v Soft skills can be taught to an individual, but they are not
as easy to fathom as hard skills.

3. » One requires soft skills to sustain or one’s field of
expertise and succeed in the job market regardless of the
industry one belongs to.



4. = The most crucial skills that are required to sustain
oneself in today’s job market communication skills are.

Question Number : 136 Question Id : 5861802558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the four sentences given In the options, which one has

the correct word order?

Options:

1. = Soft skills help one stand out Iin the ever-evolving job

market from the competition.

2. v Soft skills can be taught to an individual, but they are

not as easy to fathom as hard skills.

3. = One requires soft skills to sustain or one’s field of
expertise and succeed In the job market regardless of the

Industry one belongs to.

4, = The most crucial skills that are required to sustain

oneself in today’s job market communication skills are.

Question Number : 137 Question Id : 5861802559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. Paper is taken from the bin and deposited in a large
recycling container along with paper from other recycling
bins.

P. The separated paper 1s then washed with socapy water to
remove inks, plastic film, staples and glue.

(). The slurry is spread using large rollers into large thin
sheets.

R. All papers to be recycled are taken to a recycling plant
where they are separated into types and grades.

S. The washed paper Is put into a large holder where it is
mixed with water to create ‘slurry’.

6. The slurry’ is left to dry, and then it is rolled up ready to be
cut and sent back to the shops.

Options:

1. = PRSQ
2. v RPSQ
3. = QSRP
4. = RSQP

Question Number : 137 Question Id : 5861802559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
iIn between are jumbled up. Arrange the sentences In the

rnght order to form a meaningful and coherent paragraph.

1. Paper 1s taken from the bin and deposited in a large
recycling container along with paper from other recycling
bins.

P. The separated paper is then washed with soapy water to
remove Inks, plastic film, staples and glue.

Q. The slurry is spread using large rollers into large thin
sheets.

R. All papers to be recycled are taken to a recycling plant
where they are separated Iinto types and grades.

S. The washed paper I1s put into a large holder where It Is
mixed with water to create ‘slurry’.

6. The ‘slurry’ I1s left to dry, and then It i1s rolled up ready

to be cut and sent back to the shops.

Options:

1. = PRSQ
2. v RPSQ
3. » QSRP
4. » RSQP

Question Number : 138 Question Id : 5861802560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. Elon Reeve Musk is a South African-born American
entrepreneur and businessman who founded X.com in 1999
(which later became PayPal), SpaceX in 2002 and Tesla
Motors in 2003.

P. Musk made headlines in May 2012, when SpaceX launched
a rocket that would send the first commercial vehicle to the
International Space Station.

(. He bolstered his portfolio with the purchase of SolarCity in
2016.

R. Musk became a multimillionaire in his late 20s when he
sold his start-up company, Zip2, to a division of Compaq
Computers.

S. Adding to his entrepreneurial excellence, he cemented his
standing as a leader of industry by taking on an advisory role
in the early days of President Donald Trump’s administration.
6. As of December 2017, Elon Musk’s net worth is $20.2
billion, according to Forbes.

Options:

1. v RPQS
2. » PQSR
3. » RSPQ
4. » PRSQ

Question Number : 138 Question Id : 5861802560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
iIn between are jumbled up. Arrange the sentences In the

rnght order to form a meaningful and coherent paragraph.

1. Elon Reeve Musk is a South African-born American
entrepreneur and businessman who founded X.com in 1999
(which later became PayPal), SpaceX in 2002 and Tesla
Motors In 2003.

P. Musk made headlines in May 2012, when SpaceX
launched a rocket that would send the first commercial
vehicle to the International Space Station.

Q. He bolstered his portfolio with the purchase of SolarCity
in 2016.

R. Musk became a multimillionaire in his late 20s when he
sold his start-up company, Zip2, to a division of Compaq
Computers.

S. Adding to his entrepreneurnial excellence, he cemented his
standing as a leader of industry by taking on an advisory
role in the early days of President Donald Trump's
administration.

6. As of December 2017, Elon Musk’s net worth is $20.2

billion, according to Forbes.

Options:



1. v RPQS
2. = PQSR
3. * RSPQ
4. = PRSQ

Question Number : 139 Question Id : 5861802561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One sentence has been removed from the following passage.
Read and choose the right place (right letter) to insert the
sentence so that the passage is meaningful.

People love spending money, and with so many cool things to
buy out there, why wouldn’t they. (A) In the past, we had to
hit the high streets in order to find the clothes, food,
household items and gifts that we wanted to buy. (B) Today,
this can be achieved with the touch of a button, and the goods
will be delivered directly to your front door. (C) More and
more retailers are finding their way online, thanks to the ease
of setting up an e-commerce store. (D) It is now unusual to
find a store that does not have an online presence.

The sentence to be inserted is:
However, the way that we as consumers are spending that
money is changing dramatically.

Options:

1.vA
2. % B
3.5 C
4. %I



Question Number : 139 Question 1d : 5861802561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One sentence has been removed from the following
passage. Read and choose the right place (right letter) to

iInsert the sentence so that the passage i1s meaningful.

People love spending money, and with so many cool things
to buy out there, why wouldn’t they. (A) In the past, we had
to hit the high streets in order to find the clothes, food,
household items and gifts that we wanted to buy. (B)
Today, this can be achieved with the touch of a button, and
the goods will be delivered directly to your front door. (C)
More and more retailers are finding their way online, thanks
to the ease of setting up an e-commerce store. (D) It is
now unusual to find a store that does not have an online

presence.

The sentence to be inserted Is:
However, the way that we as consumers are spending that

money 1S changing dramatically.

Options:

1. v A
2. » B
3. = C
4. = D



Question Number : 140 Question Id : 5861802562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options when rearranged forms
the answer for the following question?

Can you please tell me the way to the library?

Options:

1. = Not the place / at home / Library is / I would rather sleep /
I like to go.

2. v You have to take a right turn / sure / building on the left
side / The library is the third / and then turn to the left.

3. = I don’t like /1s making jewellery / to read / My hobby.
4. = The shopping mall / so that I can visit / I usually / and
then a left / walk straight / take a right turn.

Question Number : 140 Question Id : 5861802562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options when rearranged forms

the answer for the following question?

Can you please tell me the way to the library?

Options:

1. = Not the place / at home / Library i1s / | would rather
sleep / | like to go.

2. v You have to take a nght turn / sure / building on the
left side / The library is the third / and then turn to the left.

3. = | don’t like / 1s making jewellery / to read / My hobby.



4. = The shopping mall / so that | can visit / | usually /
and then a left / walk straight / take a rnight turn.
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Question Number : 141 Question Id : 5861802563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

His research scholars are erudite, focused and thoroughly
grounded in strong empirical research.

Options:

1. = Vocal



2. = Argumentative
3. » Quiet
4. v Knowledgeable

Question Number : 141 Question Id : 5861802563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

His research scholars are erudite, focused and thoroughly

grounded In strong empirical research.

Options:

1. = Vocal
2. » Argumentative
3. = Quiet
4. v Knowledgeable

Question Number : 142 Question Id : 5861802564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

I met my best friend as an impecunious student living in a
studio apartment in New York.

Options:

1. ¥ Penurious

2. * Impetuous
3. » Needless
4. = Spurious

Question Number : 142 Question Id : 5861802564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

| met my best friend as an impecunious student living in a

studio apartment in New York.

Options:

1. v Penurious
2. = |mpetuous
3. * Needless
4. = Spurious

Question Number : 143 Question Id : 5861802565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

QUIESCENT

Options:

1. = Quarrelsome
2. % |neptitude
3. #» Clumsy

4. v |nactive

Question Number : 143 Question Id : 5861802565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

QUIESCENT

Options:

1. = Quarrelsome



2. = Ineptitude
3. = Clumsy
4. v Inactive

Question Number : 144 Question Id : 5861802566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following word.

CACOPHONY

Options:

1. = An instrument used for measuring sound
2. » Symphony conducted in a formal occasion
3. * Humorous loud laughter

4. v An unpleasant mixture of loud sounds

Question Number : 144 Question 1d : 5861802566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following word.

CACOPHONY

Options:

1. = An Instrument used for measuring sound
2. » Symphony conducted in a formal occasion
3. » Humorous loud laughter

4. v An unpleasant mixture of loud sounds

Question Number : 145 Question Id : 5861802567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

One problem in the present education system is that decision
makers are far too pusillanimous.

Options:

1. v Timorous

2. = Indecisive
3. = Vague
4. = Judgmental

Question Number : 145 Question Id : 5861802567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

One problem In the present education system Is that

decision makers are far too pusillanimous.

Options:

1. v Timorous

2. * Indecisive

3. = Vague

4. = Judgmental

Question Number : 146 Question Id : 5861802568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

RESCIND

Options:

1. = Invalidate



2. v Sanction
3. x Revoke
4. = Cancel

Question Number : 146 Question Id : 5861802568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

RESCIND

Options:

1. = Invalidate

2. v Sanction
3. ® Revoke

4. = Cancel

Question Number : 147 Question Id : 5861802569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

His speech at the farewell party showed his antipathy
towards his manager.

Options:

1. = Paucity

2. v Appreciation
3. * Anomalous
4. = Indifference

Question Number : 147 Question Id : 5861802569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined

word.

His speech at the farewell party showed his antipathy

towards his manager.

Options:

1. = Paucity
2. v Appreciation
3. * Anomalous

4. = |ndifference

Question Number : 148 Question Id : 5861802570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

JEOPARDY

Options:

1. = Liability
2. = Peril

3. v Safety

4. » Hazardous

Question Number : 148 Question 1d : 5861802570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

JEOPARDY

Options:

1. = Liability



2. = Pernl
3. v Safety

4. = Hazardous

Question Number : 149 Question Id : 5861802571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

My friend is so gullible that he will believe anything you tell
him.

Options:

1. v Wise
2. » Credulous
3. = Malleable
4, = Rigid

Question Number : 149 Question Id : 5861802571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

My friend 1s so gullible that he will believe anything you tell

him.
Options:

1. v Wise
2. = Credulous

3. = Malleable



4. = Rigid

Question Number : 150 Question Id : 5861802572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

We requested our teacher to expatiate on the topic for
another half an hour.

Options:

1. = Observe
2. » Explain
3. = Enlarge
4. v Summarise

Question Number : 150 Question Id : 5861802572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

We requested our teacher to expatiate on the topic for

another half an hour.

Options:

1. = Observe
2. = Explain
3. = Enlarge

4. v Summarise

Sub-Section Number: 2



Sub-Section Id: 586180167
Question Shuffling Allowed : Yes

Question Id : 5861802573 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

(Question Label : Comprehension



Read the following passage and answer the questions that
follow.

The rise of the Internet has sparked a debate about how
online communication affects social relationships. The
Internet frees us from geographic fetters and brings us
together in topic-based communities that are not tied down to
any specific place. Ours is a networked, globalised society
connected by new technologies. The Internet is the tool we
use to interact with one another, and accordingly poses new
challenges to privacy and security.

Information technologies have wrought fundamental change
throughout society, driving it forward from the industrial age
to the networked era. The Internet has changed business,
education, government, healthcare, and even the ways in
which we interact with our loved ones — it has become one of
the key drivers of social evolution.

The changes in social communication are of particular
significance. Although analogue tools still have their place in
some sectors, new technologies are continuing to gain ground
every day, transforming our communication practices and
possibilities — particularly among younger people. The
Internet has removed all communication barriers. Online, the
conventional constraints of space and time disappear and
there is a dizzyingly wide range of communicative
possibilities. The impact of social media applications has
triggered discussion of the “new communication democracy.”

The development of the Internet today is being shaped
predominantly by instant, mobile communications. Mobile
Internet is a fresh revolution. Comprehensive Internet
connectivity via smartphones and tablets is leading to an
increasingly mobile reality: we are not tied to any single
specific device, and everything is in the cloud.

People no longer spend hours gazing at a computer screen
after work or class; instead, they use their mobile devices to
stay online everywhere, all the time.



Sub questions

Question Number : 151 Question Id : 5861802574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author what is the impact of Internet on
communication today?

Options:

1. * We can now communicate with people living across the
globe.

2. v It has removed the constraints of space and time while
communicating with others.

3. * We can write to people living anywhere.

4. =« Communication via the Internet is instantaneous and
immediate.

Question Number : 152 Question Id : 5861802575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage what age followed the Industrial age?

Options:

1. = Modern age

2. » Globalisation
3. = Automobile era
4. v Networked era

Question Number : 153 Question Id : 5861802576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which sentence is NOT true according to the passage?

Options:

1. = The Internet has changed the way we communicate with
each other in a professional context.

2. = The Internet has reduced the distance between people.

3. » The impact of the Internet can be seen in the health
industry.



4. v The changes in social communication are least affected by
the Internet

Question Number : 154 Question Id : 5861802577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What, according to the author, is one of the best benefits of
mobile Internet?

Options:

1. v We are neither bound by space or time nor by any
specific device.

2. = Mobile Internet can be carried by young people

3. » Mobile internet has augmented youngsters’ usage of the
Internet.

4. = There is no age limit for using mobile Internet.

Question Number : 155 Question Id : 5861802578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the phrase, ‘everything is in the cloud’, the word ‘cloud’
refers to:

Options:
1. = a local server which stores all the data

2. v a metaphor for a global network of remote servers which
operate as a single ecosystem

3. * a mobile server which can be accessed by the user with
the help of their email password

4. = the part of the Internet that stores all our contact
information on our phone that can be synced later.

Question Id : 5861802573 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that

follow.

The rise of the Internet has sparked a debate about how
online communication affects social relationships. The
Internet frees us from geographic fetters and brings us
together in topic-based communities that are not tied down
to any specific place. Ours is a networked, globalised
society connected by new technologies. The Internet is the
tool we use to interact with one another, and accordingly

poses new challenges to privacy and security.

Information technologies have wrought fundamental change
throughout society, driving it forward from the industrial age
to the networked era. The Internet has changed business,
education, government, healthcare, and even the ways in
which we interact with our loved ones - it has become one

of the key drivers of social evolution.

The changes in social communication are of particular
significance. Although analogue tools still have their place in
some sectors, new technologies are continuing to gain
ground every day, transforming our communication practices
and possibilities - particularly among younger people. The
Internet has removed all communication barriers. Online, the
conventional constraints of space and time disappear and
there is a dizzyingly wide range of communicative
possibilities. The impact of social media applications has

triggered discussion of the “new communication democracy.”

The development of the Internet today is being shaped
predominantly by instant, mobile communications. Mobile
Internet is a fresh revolution. Comprehensive Internet
connectivity via smartphones and tablets is leading to an
increasingly mobile reality: we are not tied to any single

specific device, and everything is in the cloud.

People no longer spend hours gazing at a computer screen
after work or class; instead, they use their mobile devices

to stay online everywhere, all the time.



Sub questions

Question Number : 151 Question Id : 5861802574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author what I1s the impact of Internet on

communication today?

Options:

1. = We can now communicate with people living across

the globe.

2. v It has removed the constraints of space and time while

communicating with others.
3. = We can write to people living anywhere.

4. = Communication via the Internet is instantaneous and

immediate.

Question Number : 152 Question 1d : 5861802575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage what age followed the Industrial age?

Options:

1. = Modern age
2. = (lobalisation
3. = Automobile era

4. v Networked era

Question Number : 153 Question Id : 5861802576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which sentence 1s NOT true according to the passage?

Options:

1. = The Internet has changed the way we communicate

with each other in a professional context.



2. » The Internet has reduced the distance between people.

3. = The impact of the Internet can be seen In the health

iIndustry.

4. v The changes In social communication are least affected

by the Internet

Question Number : 154 Question Id : 5861802577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What, according to the author, 1s one of the best benefits of

mobile Internet?

Options:

1. v We are neither bound by space or time nor by any

specific device.
2. = Mobile Internet can be carried by young people

3. = Mobile internet has augmented youngsters’ usage of

the Internet.

4. = There 1s no age limit for using mobile Internet.

Question Number : 155 Question Id : 5861802578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the phrase, ‘everything i1s in the cloud’, the word ‘cloud’

refers to:

Options:

1. = a local server which stores all the data

2. v a metaphor for a global network of remote servers

which operate as a single ecosystem



3. * a mobile server which can be accessed by the user

with the help of their emall password

4, = the part of the Internet that stores all our contact

information on our phone that can be synced later.

Sub-Section Number: 3
Sub-Section 1d: 586180168
Question Shuffling Allowed : Yes

Question Id : 5861802579 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the following passage and answer the questions that
follow.

The House Sparrow and its subspeclies are worldwide in their
distribution, except in the polar regions. Sparrows have had a
symbiotic relationship with humans for the past 10,000 years.
But strangely, over the past 50-60 years, sparrows have been
sadly deserting human company in urban areas, preferring
suburban areas and the countryside, and only making brief
visits to nearby human habitats.

Sparrows, though tiny, are very sensitive and strongly
immune birds, and their sudden disappearance as sentinels
or as ecological indicators 1s a warning to humans about
impending environmental hazards. The rapid changes in the
lifestyles of humans in urban areas are increasingly
incompatible with the conservative lifestyles of sparrows.
Non-availability of tiny insects as food due to the loss of
vegetation around our modern buildings, the excessive use of
mosquito repellents indoors and insecticides outdoors, our
concrete architectures with no nesting sites for sparrows, and
air-conditioning which leaves no entry or exit points for
feeding sparrow nestlings are some of the reasons for the
dislocation of sparrows. Further, increasing noise from
automobiles and their gaseous pollutants in our cities may be
deterrents. Above all, the recent increase in electromagnetic
radiations from cell phone towers outdoors and the explosive
use of diverse wireless devices indoors have also chased away
the birds. It could be the synergistic effect of all these
environmental pollutants that has compelled sparrows to fly
away from their long-trusted human companions.



Sub questions

Question Number : 156 Question Id : 5861802580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author refers to the relationship between sparrows and
human beings as ‘symbiotic. What is the meaning of the word
‘symbiotic’?

Options:

1. » Warm friendly relationship

2. » Forced relationship

3. » Compelled to work together as both don’t have a choice

4. v Mutually beneficial relationship between different groups.

Question Number : 157 Question 1d : 5861802581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the disappearance of sparrows indicate?

Options:

1. » It serves as a warning to humans about impending
environmental hazards

2. = It indicates that winter has come
3. = It indicates that they prefer living in the suburbs

4. = It indicates that they are more comfortable living near
the river

Question Number : 158 Question Id : 5861802582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What kind of lifestyle do sparrows seem to have had?

Options:

1. = Adventurous
2. » Modern

3. v Conventional
4. = Avant-garde



Question Number : 159 Question Id : 5861802583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT a reason for sparrows to
disappear?

Options:

1. = Increasing noise level of automobiles

2. = EXcessive use of mosquito repellents

3. » Lack of space for nesting sites for sparrows
4. v Afforestation efforts in the city

Question Number : 160 Question Id : 5861802584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How has the use of mobile phones impacted the sparrows?

Options:

1. v The radiation from cell phone towers and the use of
wireless devices indoors have chased away the sparrows.

2. = The loud noise made by people talking on phones has
scared away sparrows

3. * There has been a minimum impact of Internet on
Sparrows

4. = They are dying in hoards due to the radiation from
mobile phones.

Question Id : 5861802579 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that
follow.

The House Sparrow and its subspecies are worldwide in
their distribution, except in the polar regions. Sparrows have
had a symbiotic relationship with humans for the past
10,000 years. But strangely, over the past 50-60 years,
sparrows have been sadly deserting human company in
urban areas, preferring suburban areas and the countryside,
and only making brief visits to nearby human habitats.
Sparrows, though tiny, are very sensitive and strongly
immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about
impending environmental hazards. The rapid changes in the
lifestyles of humans in urban areas are increasingly
incompatible with the conservative lifestyles of sparrows.
Non-avallability of tiny insects as food due to the loss of
vegetation around our modern buildings, the excessive use
of mosquito repellents indoors and insecticides outdoors, our
concrete architectures with no nesting sites for sparrows,
and air-conditioning which leaves no entry or exit points for
feeding sparrow nestlings are some of the reasons for the
dislocation of sparrows. Further, increasing noise from
automobiles and their gaseous pollutants in our cities may
be deterrents. Above all, the recent increase In
electromagnetic radiations from cell phone towers outdoors
and the explosive use of diverse wireless devices indoors
have also chased away the birds. It could be the synergistic
effect of all these environmental pollutants that has
compelled sparrows to fly away from their long-trusted

human companions.



Sub questions

Question Number : 156 Question Id : 5861802580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author refers to the relationship between sparrows and
human beings as ‘symbiotic. What is the meaning of the

word ‘symbiotic’?
Options:

1. = Warm friendly relationship
2. = Forced relationship
3. = Compelled to work together as both don’t have a choice

4. v Mutually beneficial relationship between different groups.

Question Number : 157 Question Id : 5861802581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the disappearance of sparrows Indicate?

Options:

1. v It serves as a warning to humans about impending

environmental hazards
2. = |t Indicates that winter has come
3. = [t indicates that they prefer living In the suburbs

4. = |t indicates that they are more comfortable living near

the river

Question Number : 158 Question Id : 5861802582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What kind of lifestyle do sparrows seem to have had?

Options:

1. = Adventurous



2. = Modern
3. v Conventional

4, = Avant-garde

Question Number : 159 Question Id : 5861802583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following 1s NOT a reason for sparrows to

disappear?

Options:

1. = Increasing noise level of automobiles
2. » Excessive use of mosquito repellents
3. = Lack of space for nesting sites for sparrows

4, v Afforestation efforts in the city

Question Number : 160 Question Id : 5861802584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How has the use of mobile phones impacted the sparrows?

Options:

1. v The radiation from cell phone towers and the use of

wireless devices indoors have chased away the sparrows.

2. = The loud noise made by people talking on phones has

scared away sparrows

3. * There has been a minimum impact of Internet on

Sparrows

4, = They are dying In hoards due to the radiation from

mobile phones.



General Hindil

Group Number : 9

Group Id: 586180120

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Hindil

Section Id : 586180124
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 586180169
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5861802585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“GEI AT 9ET, 572
Options:

1. = gcgd
2. % dogd
3. v 28T

4, = Taes

Question Number : 161 Question Id : 5861802585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WD hET esg &7

Options:

1. = dcdH



2. = dg&d
3. v deTaT
4. = e

Question Number : 162 Question Id : 5861802586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

99 & T BT 9T U dogd g7

Options:

1. % 3rg
2. % 319
3. = 3T
4, v 3T

Question Number : 162 Question Id : 5861802586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeeT & O e OT osg TR &7

Options:

1. = &
2. = 3%
3. % 3T
4., v T

Question Number : 163 Question 1d : 5861802587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g T DI T e dcd 3?

Options:

1. v 538
2. % 0T
3. = S&T
4. % T

Question Number : 163 Question Id : 5861802587 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

faeT H hidd &7 e TcTH &7

Options:

1. v SATS
2. % SN
3. % SfrET
4, = FdeT

Question Number : 164 Question Id : 5861802588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g # & S oI aTelT 9Iee, g2

Options:

Question Number : 164 Question Id : 5861802588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

far & & g TAd=r drel orse §7

Options:

1. = Sfceqdr

o,

2.&?9‘%3{\%
3. = gArsdr

o,

4, = g

o,

Question Number : 165 Question Id : 5861802589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IEd — I ES, T T TgT AT g

Options:

1. * 9 — 3505




Question Number : 165 Question Id : 5861802589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3Gd - 3T’ UsE FIA FT Tl AT &

Options:

1. » OUX - 3308
2. v 3¥U8 - 3O
3. = Tl - e

=

4sagm—|mﬁy

Question Number : 166 Question Id : 5861802590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘STSHUT g Th1X i T=T 57

Options:

1. = STddT=ID

2. % ThaTdd

4, * YeTddaTadh

Question Number : 166 Question Id : 5861802590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TEhTeT Tohd VR T AT &7
Options:

1. % SITdaTdh

2. » SgTFddrd<sh
3. v HATIdIh

4, = gerddardeh



Question Number : 167 Question Id : 5861802591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o T Id=TT o1 ¥ 37

Options:

1. * Ig
2. % dg
3. = SIY
4, v 9r

Question Number : 167 Question Id : 5861802591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o Fg §9dTH T §9 57

Options:

1. = Ig
2. = dg

3.
4. v Q1

Question Number : 168 Question Id : 5861802592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘@I The TenTT T Ta<uer g2

Options:

1. v TUTATI®
2. = UICHTUT STEIeh

3. = TA-THD
4. » EITATT

Question Number : 168 Question Id : 5861802592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ T IhR FHT feINor §?

Options:

1. ¢« JUTdI<h
o




2. » TNATT &eTsh

[ i
3. & HIdeAT[Hh

4. = HEIATAR

Question Number : 169 Question Id : 5861802593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MY & goia eg &

Options:

1. = TeAT

2. = TegAT
KA CUIES]

*

4, * GoAT

Question Number : 169 Question Id : 5861802593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot & TFA+w aig &

Options:

1. = TORTaT
2. » fe@er
3. v Tsom=ar
4. % Folall

Question Number : 170 Question Id : 5861802594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e AT QT U A1 o1 # Fohar farQa 2

Options:

1. * 9 oI
2. vy
3.+ TS

4, % &

Question Number : 170 Question Id : 5861802594 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘G eT T U2 A1 gy A T [T &:

Options:

1. % §F el
2. v AT
3. = U3
4. = &

Question Number : 171 Question Id : 5861802595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AU T GTE TaToe, g

1-“?343+W
2. % 3 + QU
3. % 31 + oUl
4, % I + dUW

Question Number : 171 Question Id : 5861802595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT T GiY fdTdeg gem:
Options:

1. v 31 + 9O

2. = 3] + UNOT
3.w3§r+aﬂw

4. = 37 + WO

Question Number : 172 Question Id : 5861802596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GgHATg H DI 9T FHIE 32

Options:

1. » qeqey




2. % o
3. = AT

4. v Igeilig

Question Number : 172 Question Id : 5861802596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TeUdTg’ H hleT @7 AN &7
P |

Options:

1.« dogew
2. = gded
3. = 3IATHIT
4. v SEITE

N

Question Number : 173 Question Id : 5861802597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TN’ # Tehd IUFAT BT TN §3AT 372

Options:

1. = 3T

2. % 374
3. = 3y
4. v 3gg

Question Number : 173 Question Id : 5861802597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘H%ﬂ?f%’ﬁﬁﬂﬂ?‘fﬂﬂ'ﬂﬁﬂgmﬁ?

1. % 3
2. = Y
3. » M
4. v 3I9H



Question Number : 174 Question Id : 5861802598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WA ¥ Thg Tedd a1 T 3T g2

Options:
1.
2. v g
3.« g7
4, =30

Question Number : 174 Question Id : 5861802598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIT H T 93T +1 Eltl’l?TgaiT &7

Options:

1. =

2. v F
3. % o9
4, = T

Question Number : 175 Question Id : 5861802599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & #I I7 srec; ST T 37

Options:

1. v aiwaT
2. % qEIIq
3. = geTaX
4, = dlehd

Question Number : 175 Question Id : 5861802599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fodaT # hleT AT ereg TAIToleT 8T &7

Options:

1. v dferdT




2. = dargd
3. % deldiL
4. % dThd

Question Number : 176 Question Id : 5861802600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I DT AN ag’ [T Tea=e BT 380 57

Options:

1. * T U=
2. * TaSUUr UgE=e
3. v YT Uce=¢
4. = TohdT Uce=¢

Question Number : 176 Question Id : 5861802600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST FT ART T&° TFT USEed T IETEL0T &7

Options:

1. % AT UgaedT
2. = T99IYUT ygeeel
3. v HATH Ugeed
4, = TohaT UcseeT

Question Number : 177 Question 1d : 5861802601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U TET TTTAT b WIgT gl g1’ ATFT | AIgT D@l 3’ 10d YR BT SUATF
g?

Options:

1. » TopaT SUCTET

2. » TohdT Tereuor Juemad
3. v 9T U

4, » TrQwur Iuared




Question Number : 177 Question 1d : 5861802601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘H AT SATadr T AG Fal g’ aFT H ‘HAIBd $hal o e
TR T 3UATST &7

Options:

1. = TohaT 3varey
2. % TerdT TQeiNur gy

3. v AT 3UaT

4. » TINUT IUgTeRy

Question Number : 178 Question Id : 5861802602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YR AT g1’ g YhR &7 ATaT g2

Options:

1. *» IUATET

2. v Ylel ITFT
3. = G a9y
4. » Ty arag

Question Number : 178 Question Id : 5861802602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GR o&ddT &1 TFT YR T gy &7

Options:

1. = 3Udrery

2. v Il ard

3. * TIFd T

4. = THY geg

Question Number : 179 Question Id : 5861802603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCSHH T &8 & I 9T a1 e 87



Options:

1. v g 84 0T & gl
2. Ig U & g 6l
3. » A T (& g T3
4. » TOT q&ad 3 Ig A

Question Number : 179 Question Id : 5861802603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

USshA HT TCE @ HleT AT AT S B?

Options:

‘I.wﬂ%‘ﬁﬁ'fﬁﬂ'W%’l
2. « g O grd+ & Al
3. « A By oFa+ & T8
4. » g & & I§ A

Question Number : 180 Question Id : 5861802604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3a Pl &8 I I AT AT g 872

Options:

1. * IUT F GOUT T TR
2. % UT T PO BT [HR]
3. * YT = PO Bl TepT]
4. v TYT = PO Pl BRI

Question Number : 180 Question Id : 5861802604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hedd T TEC @ Hlel AT dAFT UG &7

Options:

1. = TLT & FST FT TR
2. = [T o FS0T HT TN |
3. = [T o FS0T HT YHRT|




4. v [T o FTUT FI THRT|

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

General Hindi2

10
586180121
0
120
No
No
0
20
No
Yes
0

0

General Hindi?

Section Id : 586180125

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180170
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5861802605 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

T PT UATIATIT 37

Options:

1. v TdT
2. % qaT

3. = g
4. = qre=t

Question Number : 181 Question Id : 5861802605 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



FRT RT UG &7

Options:
1. v Oddl
. .
)

2.
3.+ g
4. « afeh

Question Number : 182 Question 1d : 5861802606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T P TATIETE T E:

Options:

1. « ¥y

2. % UZITEr
3. v URIThY
4, % IJThT

Question Number : 182 Question 1d : 5861802606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THg TAIaRT dal &

Options:

3. v TR
4. = Tcallhd

Question Number : 183 Question Id : 5861802607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = STOT



2. v Y
3. = O&T
4. = TET

Question Number : 183 Question Id : 5861802607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘et TdhgarT TATIaT=T 32

Options:

1. = STUT
2. v gy

3. = 74T
4. % TST

Question Number : 184 Question Id : 5861802608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST ThgT Tl §?

Options:
1. = §gr
2. * Qe
3. * g

4, v Teroy

Question Number : 184 Question Id : 5861802608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FelTeel ToREeRT 9ITIa=T 87

Options:

1. » SEAT
2. = @19
3.« Zog
4. v Tawy

Question Number : 185 Question Id : 5861802609 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘S Thgdl T A1 82
Options:

1. = AT

2. ¢ Telll

3.« ™g

4, » g&IT

Question Number : 185 Question 1d : 5861802609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3eh’ TohdenT JATIGRIT dal &7

Options:

1. = AT

2. v geldr

3. = e

4, = FEAT

Question Number : 186 Question Id : 5861802610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T DT eI 2MEC,

Options:

Question Number : 186 Question Id : 5861802610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

I FT TollH oo &

Options:

1.&?31@?31'
2. = Tocg




3. % Tepel
4, = FOT

Question Number : 187 Question 1d : 5861802611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IR DT TSl gIv:

Options:

1. » Tog
2. % Ta=mT
3. = TR
4, v Ta%h

Question Number : 187 Question Id : 5861802611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HelFd' I aend gEm:

Options:

1. = Tag
2. » faTmer
3. » TaIfeha
4. v BT

Question Number : 188 Question Id : 5861802612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘g Rt e 22

Options:

Question Number : 188 Question Id : 5861802612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1. = Ggcd
2. » Tagced
3. v 3aUg
4. = ANG

Question Number : 189 Question Id : 5861802613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIT o O o ZAE [T & UTh & 1@iTchd Te, Pl el d gIT:

Options:
1. % 3fT8®
2. v OH

3. el
4, » 3GH

Question Number : 189 Question 1d : 5861802613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToIT o THENT 3 TAse T &1 gidd & I@Ihd 26 &l
e e

Options:

1. = 37TUR
2. v hH

3. = 3dd
4. » 3OTH

Question Number : 190 Question Id : 5861802614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ezt aim e T

Options:

1. = Tererer



2. * LG
3. v TEYT
4, % IS

Question Number : 190 Question Id : 5861802614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tearey &1 9o H &

Options:

Sub-Section Number: 2
Sub-Section I1d: 586180171
Question Shuffling Allowed : Yes

Question Id : 5861802615 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

(Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

YT Aich-aTel § 3TISTYUT 3N ATTH S AT Bl ofcht Tehe gUI S+gI4 Teh U
R hl TIepey=T chl ST 3ITST W UTE TR g1 & &l TUGT 39 Hor 4 U
AT g ST sl JTYTd Tier # e e g o Toh YR 3rgiq TR #l E
TR 37 TMier T GEPId Pl Sieh & AT gl X S g o TR # ST, 7T,
A, I @H D aTol gId g aT el &t ST Hiell, T il §:@ 9
T 3R Ueh TG & G« T G g4 aTel! gt gl aW ar o ferad g “amar
oY 9 SQTUIL IT o7 HYL DHISR DY Ao’ | T AGA FEhid & Well-HiTd
URTRIT g 3N TYI Y B Dl DS TP P 4 g1 Tgarpd] TH 450
YT &1 T U g1 91T A4 T T ST 31T WY a1 g5 3 STg! U
3R AT o FeTUX g, gl q@dl S & =4 ATeldh Dl JHhT ST=/T AT
4 T 3ITe U 3N eATcdod THoTdT g1 YT &l MTUGT i hifdepTiedr ST Wi
BH TG §5 gl oIl Bl ¢ BT § USd g MTUIT BrH-ahret o BiiSd a4t
AT S a2T GrAadIe, TOqaT T T & YT al g T gt
3 GHT PATALT DT YIdd gl GT 3UAT MU Dl Teeoc @ H 0ol 3 5
|

Sub questions

Question Number : 191 Question Id : 5861802616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS # T did @ Soo1@ g7

Options:

4. v Q&9
Question Number : 192 Question Id : 5861802617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

URepeuT BT 37 3

Options:

1. v 3IATT
2. % YTACZeTull



3. * JETE
4, = TS

Question Number : 193 Question Id : 5861802618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AqTeqed” o Y &

Options:

1. v &8
2. % JATaT
3. % gl
4, » QAT

Question Number : 194 Question Id : 5861802619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T T P WA B 27

Options:

1. = TTHITT Y<pia
2. v AU GEpid
3. * YR IEPpid

4, » YR GEPid

Question Number : 195 Question Id : 5861802620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TATHE, DT AT 3

Options:

1. » 3
2. % e
3. v e
4, » MR

Question Id : 5861802615 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sirer & 910 JTETer T Teesht I I Wesll & 3o G’
I ATFT-FTel H STYUT 3 ATTAS aToiT T ol S
3oglal Uoh UH THW hT TiheTelT T oIl 37TaT T uraeer &
I HT MTIAT 38 F°0T & U7 FAr & SO sl 3747 ang A
foaare +Tar & 7 foF AU 3797q B A GT F1 ORI Mg
T GERIT FT & F Al §1 T S0 § ToF @9 H &,
TTIRT, T, a1 FH Flal dTel id & IAT g HT SFeTdT AT,
Tk gE & @ § ol A Uk gEl &k g@ & T gl drell
glcir &1 el o @ forma & ‘3 @Y 93 SATaRy A1 ar AU
IS T RIS | FT AT TEPIT el IRRIT & 3N
HUIT T FTSL HT HISIT Toh Fgel & o1 fGoehed| 0 gl H
I Oh 8 UgTeld §1 SToT SIE aTa ohT 3Taedehdl 37ToT #HT Sl
gé%’dsTﬁﬁaﬂTqu Aed Gaal &, 5180 gEdl &1 8 SleA
dTeTeh I 3T STedelT ATar T & 3o+ 97 3T arcgea
THerdT @11 HT T INTUGT T RITAhIRAT 3T ﬁwaﬁg‘é%’l
HTO T el shiaAl A G5 & MTAT FIA-FTST O BITSA Tl
HIATGI Seell T2 GTAdars, UgdcdT T el Hild HE &
T AT & 37 T FOTaAT 1 9fahR &1 T 9= noar
P TITHE Tha H Thel I &l

Sub questions

Question Number : 191 Question Id : 5861802616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ST H ThT g HT ool &7

Options:

1. » HERCH

2. % qnem“lqw




3. = ARTETS
4. v HIc™

Question Number : 192 Question Id : 5861802617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TR edal T 3T &

Options:

1.«?31@?41?
2. = STTgsggrolY
3. = 3cIayur
4. = 3ELN

Question Number : 193 Question Id : 5861802618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Greged HT HT T

Options:

1. v Tag
2. % 3cT

3. * Gl

4. = 9HTA

Question Number : 194 Question Id : 5861802619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl FERIT T JA0T FIA 87

Options:

1. = ITAT HEPHfA
2.&%1%&14@?%
3. = WA GEpid
4

. % PR FERI




Question Number : 195 Question Id : 5861802620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TITHS R T &

Options:

Sub-Section Number: 3
Sub-Section 1d: 586180172
Question Shuffling Allowed : Yes

Question Id : 5861802621 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

Tl 3UATY # ThdT 3iet 0T |/ W=iield UTd-1drsii, G-,
TersaT, ITEAT3I, Sl 31TTe; @I RIA GIdT gl 39 <A H AGT & o1l
ST STUAT GUUAr & 91 REd g1 3341 21 U SU=ar9) § 39 3iwre 98y
T AUt Aimiferen [EATT agl & MemiRdT &t guedT, I&pid, e, J-
IR, TR, YTTH® q9T ATdd GO, {I-9g, dAld-T1d, elldh-1cd, olid-
9TUT, SAieplTchal, TgTer 3ATTe; v §o Sr=T quiar & I @R gl 34 gl
ielield IT-ATY 37 IJUATY] dl hgd g -0 T [T 3irel P el
T STTa 370 GHET &0 # TaEqR & 91 [Ad giar 21 96 Thdl Uh
cTth AT AT Pt BglHT T g D qUY 37erel & AL SA-T-Si1a- Dl PgHl
gidr 31 3rields IU=ATET # TAHIT TT TUT g gl T 37 Gt Iu=Im4t
T TSITH ST AT g1, g Ty ariaieldy IU=AT9 g1 thg Tehd gl &1 #
3297 3R A @ Aifeldr AT gl gl 3Mfeiield SU=ATAT § 36l 310=T
HYUT TTererdT 3N FHYAT & 1Y [TAd gidr gl 3fielieley JU~GT9 AT g4
# TehdT e I hEHHATAT §S SHa-THId @l eTui & ol Frefeh TaTH gl

Sub questions

Question Number : 196 Question Id : 5861802622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Terier # fhg qehe & IT=AT9T r [T guur g?

Options:

1. = HATIH IT-ATH

2. % JTIaTCT IU-ITH

3. * AIIYUUTcHS SUT=ATY
4. v 3NETeid U9

Question Number : 197 Question Id : 5861802623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GUIAT D1 37 g

Options:

1. * 3TERT

2. v
3. = faterEar




4. = dfaey

Question Number : 198 Question 1d : 5861802624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T 3ATAT &

Options:

1. = TUE

2. % 3TLUT
3. v g
4, » Pieid

Question Number : 199 Question Id : 5861802625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Mierieldy IU=ATY B e, § gIdT &

Options:

1. # SqTch BT ST
2. % TR T Sta-

3. % T[Tel T = 1o

4, v GAET ST S(1a-

Question Number : 200 Question Id : 5861802626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el SU=ATY § TETT FiaT 3

Options:

1. v TIHIT AT
2. % O AT
3. « AT 4T

4, = JTEATcHD ]

Question Id : 5861802621 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



sirer & 910 JTETer T Teesht I I Wesll & 3o G’
Mafoeh 39eamd H RAT e [y & vatora dfa-Rare,
HTeT-UTeT, [earg, 3meamail, sell 37fe 1 ==For &ar &1 39
RIFUT # T& F7 olich Sidel 39l GHIAT & grg =ET &
35T &1 U9 3YIrEl # 38 37del faey S gyt silenferes
FufT ggl & aradt T JAEdT, §Ehid, Soll, de-calgR,
WV, giffe qor dfds quy, Ea-aad, oieh-aId, dh-acd,
oIoh-81TST, SIhITeFcral, HETaR 3MTe Tl F& A&l qoTaT & @1
HERT g1 36d g1 3afeh 3Uedd 3o 3U=ardl H Fed &
oeTH Teoh [y 3/e o @Al &7 Siidel 3Uel TAed §9 H
farar & aryr /ET &ar &1 2987 /AT vk sgfea a1 aRar
hT FEET o & HL U 3Tl o AT STol-oildel hl Halail
Bl &1 3TIfolsh SUeaTEl 7 T o7 Terel giar g1 fohe 3o
Tl 3Tl FT TolH T T 8L A ORE 3felh
3UCHTH A%l g Thd &1 S H 3827 3T =Fur =1 Aifes
AT BT §1 3Mloleh 39egral # 3o 379611 YUT Tafaerdr
3T gHRIAr & ary /AT gar &1 safes 39 ATl g8
H fohET waer T FEAACT g5 SHaeneEi{d HI qOT ot T
areier I &

Sub questions

Question Number : 196 Question Id : 5861802622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI H Tohd ThIT o 3YATET T faeelvor &7

Options:

1. = HTATR 39adTH

2. % JATIATET 3SUaITH




3. % HAIeYUTcHER 3Y+ITH

4. v TR 39919

Question Number : 197 Question 1d : 5861802623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GHIAT FT AT &

Options:

1. = 37T

2.JEIST
3. = Tatersear
4. = gy

Question Number : 198 Question Id : 5861802624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TN T 3T &
Options:

1. = ¥USC

2. % 3T¥YSC
3. v egfad
4, % FHieud

Question Number : 199 Question Id : 5861802625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AMafelsh 39T & shg H &idT &

Options:

1. % T T Sigd]

* JREN T SAIdd

2
3. % g Rl SIdd
4

v AT o SAdd



Question Number : 200 Question 1d : 5861802626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MToleh 39eaTd H T &ldT &:

Options:




